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Qinifu 1. Vwptiwwnhywywh whwihgh
GGpwénipinll

§ 1. BJwjhb pwqinienLbGbp, Gpwbg Gqpbpp:

Qunwihwp Yndwtpu pYtph dwuha,
gnpénnnigynLbbtp Gpwbg htwn:

Uwpbdwunhywlwb dh wpp qunuwithwpbbp hwdwnynid
GO hpdbwlwb: OphGwy ninhnp, hwppnipjnitbp: Ipdbwywb
E Owb pwqdnipnih hwuluwgnipinibp: Pwqgdnipynilp, nw
npn2 plOnhwGnip hwwnynepyniGlGbpny odnywdé wnwpnptph
hwiwfuntiph k: PwqguinipntGbbpp Yarwlwytlp
ABC,..XY,. dtowwnwntpnd, huy Gpwbg wwppbpp
ab,c,...x,y,... thnppnwwnwnbpny: IGnwqujnid 2wpwnpiw
pbpwgpnid  Yoqudtilp  htnlyw|]  wpwdwpwlwlywb
updyniGtphg® pOnbwGpnipjwl  pdwluiinp V' (npp
thnfuwphOnud £ guwGlwgwéd pwnhb), gnjnipjwl pywbunnp
F(qnnipjnil nLbh pwrhb): Uwpbdwwnhlywywlb wbwihgnid
atbp nrunudlwuppbne Gap hhdbwywbnud pwjhlb pwg-
dnip)ncGbp, npnGg tnwpptipp pybp GG:

Ahgnip Xp pywihb pwqanignb b, wyuhbplb X c R:

Uwhiwlnid 1. X ={x} pwqintpntp Ynsynid k uwhdw-
Gwthwy ytplhg, Gt 3¢ phd, np Vxe X nnwpp pwywpw-
pnd b x <c¢ wbhwjwuwpnipjwbp: ¢0 yngynid b X pwg-
anipjwl y&phb Gan: Rninp ybphb Gantiphg wakbwiinpnp,
Grt wjt gnnipntd nibh Yngynud £ &2gphuin 4epht Ggn L
Gpwlwyyned £ M =supfx}, ywd M =sup X :

Uwhiwlnid 2. X ={x} pwqdntpnibp Ynsynid k uwhiw-
Gwidhwy GGpplhg, GeE 3¢ phy , Nnp Vxe X tnwpn pwyw-
pwpnd £t x=c¢ wlhwdwuwpnigwlp: ¢0 yngynd £ X
pwqunipjwlb uwnnphbt  Ggp: Pninp unnphb - Ggptphg
wakbwoksép, et wyt gnnugyntd nubh Yynsynid £ £2gphun
unnphb Gap L Gowbwyyntd £ m =inf{x}, ywd m=inf X :




hpwywgh t hbunlyw| pEnptanp:

Btnptd. Yhgnip X ={x}-p ns nwuwpy pwaqdnipnLl k
hnwywl pytnh akg:

w/ Bpb X uwhiwbwhwy t yenplhg, www Isupfx}-p:

p/ Gpb X uwhdwGwthwy t GGpplhg, www Jinf{x}-p:

Wda OGpdnskhp  yndwbpu pYLGph  qunuwilhwnp:
hOswGu hwwth dwptdwwhywih  nwpngwywh
nwupbpwghg hpwywb pytpp hwlnhuwlnid GO rwghnOwy
L hrwghnOw; pYtph hwdwfunidpp, npuntbn rwghnbwg
pUEpp hwlnhuwbnid GG {m}mne N wnbupny agpynn

n

woypswwnbh ynnnpwybtn, huy hrwghnlGw) pybpb wl
pytpbd GG, npnOp  wnwubnpnwywb  Ynunnpwylbbpny
ghweynd GO npwtu wGdbpe L ny  wwpptpwywh
Ynunnpwyltp: Ppwlywb pdtph pwqinipjwb pbnwGnudp
pluntd £ dh wnp wpnhwywh fulnhpGbnphg:  Wuwbu,
hpwywb gnpéwyhglbpny pwrwyniuh hwywuwnpnidp
dhown sk, np ntbh hpwywO wpdwunbbp: OphGwy x* +1=0
hwywuwpdwb hwdwnp wOhpwdtwn £ Gnp Yeqd dhwynph
OGpdniddwb gunwdhwnp:

Uwhdwlnd 3. z yniwbpu phy Ywbdwltlbp z =a+ib
wpwnwhwynnegyntp, npuintn a0 L -0 hpwyw pytp GG,
huy i-0 wuwbu Yynsywdé ybndé dhwynp t L npnpynud L
i> = —lThwjwuwpnipjwdp: a0 Gwowyynid t Rez=a, b0
imz=b:.

a0 ynsgynd £t yndwbpu pdp hpwywb dwu, huy b0
Yndwbpu pyh Yytnd dwu: LOGnnibynid GO hGuinlywy Gpynt
uwhdwbnwdbbpp:

1. z,=a +ib, z, =a,+ib,yniwGpu pULpp hwiwnynid G
dhgywbg hwwuwn, Gt a, =a, L b, =b,:

2. z =a+b=0, wju L ohw)b wyb nEwpniy, et a=b=0.




3nipwpwlgnip  z =a+b yndwltpu phd Ywpbh ¢t
OG6pYwywgll; OXY hwppnipjwb ypw A(ag;b) Ytuinnh inbupny:
shpnn b Gwb hwywewy wlnniudp, jnipupwbsnin A(a;b)
YGwnhl hwiwwwuwnwuuwOnid £z =a+ib Yyndwtpu phy: Wo

hwppntpjntbp, npwntn 0GpYwjwgynid GG YndwGpu UL,
Ywbdwlttp Yndwibpu z thnihnjuwywbh hwppnigintd b

YGwhwydh (2)-ny:
Qéwaghp 1.-hg hGawn £ GYWWINE[, Np @ = rcos@,b = rsing,

hGunLwpwp z=a+/b YndwGpu pyh hwdwn ynibbbwbp
z=r(cosp+ising): (1)

(1) GGpYwywgniip  YwadwoObbp  Yndwbpu pyh
GrwOynibwswhwywb OGEpYuwywgnid: r-p Yuwadwbbbp

Undwibipu puh dnnny L Yopwlwyblp' r=|z=+va* +b>,
huy ¢-0 YJwbOdwotlp yndwbpu pyh wpgnuitlbun L
Yorwlwytbp

¢=Argz=arctgé+27n(, KkeZ
a

Undwitpu pYh wpgnuibbunp  npndnid | 2n-h
A2unnLpjwdp:

Ya

a;b)

3
v

Q6.1



Gpunt z, =a +ib, z, =a,+ib, pYtph hwdiwn gndwp L

tnwnpGpnigintd Yuwhdawbyp
21tz =(a,xa,)+i(b£th):

Gpynt Yndwbpu pYyEph wpuwnpw; wubiny Yhwuyw-
GwOp Opwlg pwqiwwwuwnyndp npwbu Bpywbnwabtn:
Lywwh nbGowiny, np i =-Li’=i"-i=—i,i*=i"-i=1 L
wy b, YntbGhwbp.

2,2, =(a,-a,=b, -b))+i(b -a,+a,-b)):

<G L hwdingyt|, np GrwOynibwswhwywb wnbupny

wpwunwnpwip Yypannibh hGunlywy inbupp.
4L =h 'rz(COS(¢1 +¢2)+i5in(¢1 + (”2)): (2)

Wuhbpb (2)-hg hGwnbnwd £, np Gpyne Yndwtpu pytn
pwqiwwwwnytihu, pwgiwwwunyyned 6o Gpwbg dnnne OG-
np, huy wpgndGownGEpp gnidwnyned GG:

Uwhiw(nid 4. z=g+/6 yndwbpu pyh hwiwnié yndw-
lGpu phy Ynsynud t z=a-b Yndwbpu phyp: Pwdwbiwhb
hwdawp yniGwbp
z, _a +tib (a1 +ibl)(a2 —ibz) _a,-a,+b b, .a,b —apb,

2, a,+ib, (a,+ib,)a,—ib,)  a* +b% a’» +b,’
GrwOynibwswihwywb ntupny YnibtGhwbp.
Z=Lcos(p -9, )+isin( 9 -9,)): 3)

7, T

(3)-hg hGwnunwd t, np Yndwbpu pybpp pwdwlbihu
Opwlg annnibGpp pwdwbynid GO, huy wpgnudGOnbbpp
hwGynt:

z=r(cos@ +isin@)-h hwdiwp nbnh ntbh 7-pn wunhgwb
pwndpwglbint Untwyph pwbwdlp.

7" =r"(cosn@+sinng): (4)

L 7-pn wunhdwbh wpdwwn hwOtint htnlyw) pwOwdlp.

o7 = dr(cos @+sin @) = W(COSMHSMM) (5,
n

k=0,12..n-1




Ophbwy. Qulb] M—h pninp wpdbplbpp: Oquytiny
(5)-hg, YntbGGwGp.

31 =3/cos0+isin0 = cosO+32m( +isin0+327m : Swiny
k=0,1,2 wndbiplbn, YnLOLGWGP.

. or .. 2r 1 A3

Zo =cosO+isin0=1,z, =cos—+isin— =——+i——

3 3 2 2
41 A3
Z,C08——+isin—— =———i——
3 2 2

Ogquybiny e'? =cos@+ising Ejtph pwlwdlhg L Yniw-
lGpu pYybnph Grwlynitbwswhwywb GEpYwjwgniipg, ynilt-
GwGp.

iargz

z=r(cosp+ising)=re” =|Ze

§2. BJwhG hwonpnwywbnipntbbtip L Gpwbg
uwhiw(p: Uoytp thnpp L wbybpe ukéd
aGénipynLbGGb:

LpwOg hwuinynigyntbbtnp:

UGpOanhwun tnnynubbph hwynidp:

Uwhdw(nid 1. Gt jntpwpwbgnip ne N phwywb pyhl
hwiwwwwnwuuwinipwb b b npqwé x, (x, € R) hpwywo
phy, www x,x,,.....x,,.... hpwywb pytph pwagintgntlp
Ynsynid £ pdwyhb hwonpnwywbnepgnib:

<wonpnwywlniginiip  Yopwlwyttp  Ypdwunn  {x,}
upadniny:  x,-p hwonpnwywbnigwb wwnnb £, huy 7p
tnwpph hwdwpp: BYwiht hwonpnwywbnigjwb wnwnpptph
wndtiplbnp Yupnn G0 (hO6| hOswBu Gpowynn, wjGwbu £y
wabybne, apbgntr Gpw wnwppbph pwqinientGb wbybpy §:
OphGOwy. x,=(-1)" hwonpnwywlnigwlb  wnwpptpb




pannibnd GO0 dhwyb Gpynt wpdbp” -1 L 1: <wdwfu
hwonpnwywbnipntbp wnnpynid t nplut pwbwdlny ophlwy.
X, =zn;i:<w9nnananijnL0n wpnn b wpdbp Gwl
n
wlinpwnwné pwbwdlny, opnhbwy.
x,=x,,+2x,_,n=23): x,=a L x,=b:

Ujda pllwnyblp hGnlyw) fulnhpp, wwnwbpeh ghbp jnt-
pwpwbgnipn woqwd tdwbwgbnud 66 dhLGnyb wninynuny,
gunlt] ~wlgqwd tdwlwglbihu wwypwbph Gnp ghbp: GO-
pwnptlp wwpwbph ghGp x npwd £, L jnipwpwbsnip wo-
gwy [dwlwglnid GO dplbnyla P innnynuny: Mwnpq t np w-
rwohl woOgqwd Ldwlwglbinig hGuin Gnp ghGp Y hGp
L Px _100-P

100 100
UthGh®
10()—19)(_100—19';(13:100—10)((1_Pj:(loo—f’j2

100 100 100 100 100 100
Cwpnibwytind  wyu  wpngbup, r7pn pwynd  dkGOp

UntGGOwbp wwpwbph Gnp ghlp (IOO_PJ x:(1_ij x:

x: Bpypnpn wOqwd tdwbwglbinig htwnn

100 100
uybhwyuin £, np wwpwOph ghGp dhlubnylt P wninynuny n
wbquw pwOywlwint nGwpntd UhGh

(100+PJ" ( P j _
x=|1+—— | x:
100 100

Uwhiwlnii2. a phyp Ynsyned E {x}
hwonpnwywlnipjwb uvwhdwl, Gt Ve>0 pyh hwdwp
AN(e) hwdwn, np |x, —a| < &, tpp n2 N(e):

Uuntd GG, np wyn hwonpnwywbnipntbp gnigudhunnid k
a-hG: <wonpnwywbniginitbp, nnb nibh uwhdwb Yngynid §
gnigwaitin, hwywrwy nbwpnid’ tnwpwatun:




Get « phdp wn hwonpnwywinipywb uwhdwbG L,
wuww gnpnid GO h_{?ox =a,wd x, >a,bpp n—co:
Mwpq £ Gwl, np Gpp thnfugnid £t >0 phdp, www
Ythnfudh Gwl. N hwdwnp, hnbwpwnp N = N(e):
2n+3
n+l1

Ophbwy. wwwgnigt], np Gpp n— o, -2 L

npwé € >0-h hwdwn gk N(e)-p:
2n+3

n+1

<G £ winbulbl, np

—2‘: ! : Nfunh npywé
n+l1

£>0-h hwdwp L<g winbnh Ynibtow, Gpb n >l—1:
n+1 &

UuhGel, N(e)-h hwdwn whnp £ Ubngty (é—l) ouh

wdpnng twup: Wuwhund, N(e)z{l—l}:
£

11 1
OnhGwy 2. Qunbb = 4+
i Lo =127 23 n(n+1)

hwonpnwywlntpjwb uwhdwn:
x,-n gntibp hGunlyw) inbupny

(3 B
X, =|1l-=|+|=—=|+| = |+..+| —— =1- :
2 2 3 3 4 n n+l n+1

Uybhwywin £, np Gpp n—>e www x —1 hGnlwpwn
a1, L hOswhuh (a—¢ea+€) hGnbpdw; dbpglklhp a
Ythunpnbny, hGuintpdwihg nnipu Yuwpnn GG gunOdt) dhwyb
wyn hwonpnwywinipjwb ytpowdnnp pyny wlnwiltbn:

Uwhdwlnd 3. {a,} hwonpnwywGnipnibp Yngynid t
wbytne thnpn, Gpb lijﬂan =0:

Wda dLwytpwttp uwhdwbbtph nGunipywl hhdbwywb
[GUdwl, nphg UGOp hGunwagwntd hwiwfuwyh Yogunytlp:




Leddw. Npwtugh a-0 |hoh {x,} hwonpnwywinipjwl
uwhdwoOp, wOhpwdtnn [ L pwwpwp, np x, =a+a,,
npwnbn {e, } wytpe thnpn t:

LEddwyh wwwgnyglb wybhwynn t, pwlbh np, Gpb «-0
{x }-h uwhowo0o t, www {x, —a} hwonpnwywinipw
uwhdwop gpn £, wuhbpt {x, —a} hwonpnwywGnipniGl
wodbpe  tnpn  k, nwwnh  Gwlwyklp' x, —a=¢«,,
Yuunwlwlp' x, =a+¢a,, npnbn a,-p wbdbpe thnpp §:
Unwlg wwwgnigh Gp60p wGybpe thnpptph L wGybpg
dtotph oh pwOh wybhwyun hwwnynepnibbtpp:

UwhdwlOnid 4. {x,} hweonpnwywlnipginibp Ynsynid L

wbybpe 066, trt VC >0 pdh hwdwp, 3N, np Gpp n> N,
> C: Wu nbwpnid gnned GOp limx, =co:

xn

0 1-\;bn9qun rUNY waytng thnpnptinh gnidwpp waytng
npp k:

2. Uwhdwlwdhwy L wOdbpe thnpp hwonpnwywbnipe-
JnLabGph wpunwnpwt waytne thnpp k:

3.dbpowynn pyny wayting thnpntiph qéwjhG Yndphlw-
ghw0 waytng thnpn t:

4.Jd6powynn puyny waytipe thnpptiph wpunwnnjwi bt wa-
ytng thnpn t:

5. 2pn gnwndnn waytng thnpph hwjwnwndp woytnpg
0b6 £, huy woydtne dEsh hwywnwnép waytkpe thnpn k:

10



§3. 2ni.quitn hwonpnwywbnigntbbbph
hwuwnynigyntbbtpp: Qnpénnnipyntbbtip uwhdwbbtph
htun L uwhdwbwyhG wagnudbtn:

RPtntlp dh pwlh pGnptalGn, npnbp pwgwhwjwnnid G
gnigwibin hwonpnwywbnipntbbbph Ywnplnpwagntyt hwun-
Ynipyntbbbpp:

@tinptu 1. bpb a-0 {x,} hwonpnwywinipwb uwhiwbl
tla<P (a>P), wyw IN hwdwp, np Gt n> N, wwyw
x, <P (x >P):

BGnptd 2. Gt hwonpnwywinipnibp gqniquaitun L,
www Opw uwhdwbOp dhwyb t:

BtnpGd 3. Gpt hwonpnwywlnipnibp qniquitun t,
wuww 0w uwhdwbwthwy t:

@tnpty 4. 6pt {x,}, {y,}. {z,} hwonpnwywGnipnil-
GGnh wjbwhupb G0, np x, <y, <z,, pninp AGph hwdwn
ujuwé N, (n> N,) hwiwphg L Gpb limx, =limz, =a, Www

{v,} hwonpnwywonipnip Lu gniqudtn £ L limy, =a:

Uwwgnigtilp wju ptnptibbphg pbnptd 4-p:
Pwlh np limx, =limz, =a, wwyw Ve>0 pyh hwdwnp

AN, L N, hwdwnpbbn, np Gpp n>N,, a—€<x, <a+¢€, huy
n>N, inbnhnlh a-¢<z,<a+e€:
Lywlwytbp® N =max(N,N,), wwyw n>N nbwpntd
dhwdwiwbwy wnbnh yntGtGwh
a—-€<x,<y,<z,<até€
wOhwywuwnniynitbltpp, nphg hGunlnid E, nn
a-e<y <a+ée, wuhipl -0 hwOnhuwond £ {y,}

hwonpnwywlnigjwlb  vwhdwOp: Wdd  duwytpwblp
hGinlyw| ptnptdp, npp pnyp b wnwhu vwhdwb nibbgnn

11



hwonpnwyuwlnipntbbtph hGuin uunwpb] pwpwbwywb
gnpénnnipynLbbGn:

@tinptd 5. 6pt {x,} L {y,} hwonpnwywlnipNLGhtnp
gniqwitin 6O limx, =a, limy, =b, www w) {x, +y },

n—oo

p) {x,-y,} hwonpnwywlnipnibOtpp Lu gniqudtinn GO L
lim(x, +y, )=a*b; lim(x,-y,)=a-b, huy bpt b=0, www

n—oo

'xn

Q) {x} hwonpnwywlnigintbp gniquidtn | L lim

n—oo yn

Uu pbnptdh wwwgnyglbbpp pfuntd 60 uwhdwOOBph
inbGunipjwlb  hpdbwywb (Gddwihg L wGdbpe thnpptph
hwunynigyntbbtphg: Uwywgnigtlbp ptinptdh g) wbnnidp:

n

8nyg wwlp, np {x” —%}-n waytng  thnpn

n

hwonpnwywlnipntb :

Ppnp,
X, a_bx,—ay, _b(a+an)—a(b+,3n)_i(a _ag )
y, b by, by, Sy V)

npnbn «,-p L B, -pn wodtpg thnpnp GG: Pwlh np {1}

n

hwonpnwywbnipintbp uwhdwOwdhwy t, huy (an_Zan

hwonpnwyuwlnipnitp  woytpe  thnpnp  t,  hGunlwpwp

{1(%—23”)} hwonpnwlwonienibn  YhGh  woybng
Yo

thnpp (§2-h hwuwnynipinib 2):

12



§4. UnGnunnlG hwonpnwwbnipjwb uwhiw(p:
e phyp: UGpOGnhwun innynulGtph hwaynidp:

Uwhiwonid 1. {x,} hwenpnwlwinipyniip uoywlbop
anbnunn( wann, Gt wryw GO hGunlyw
wOhwywuwnnintbGbtpp

X, <x,<x,2..5x,<x
wjuhbpb x,<x,,,, Vone N:
Gprt gwlywgwéd ne N -h hwdwnp wnbnh nbh x, <X

www {x,} hwonpnwywonipnitlp Ynsynid t fuhuwn, Yud
twwbu dnGnunb wénn:

UwhiwOnid 2. {x,} hwonpnwywonipinitp Yngynid k
dnGnunnb 0wagnn, Ywd twwbtu dnbnuinb O0dwqnn, Geb
Vne N -h hwdwnp wnbnh ntbh x, 2 x,,, Ywdx, > x,,, whhw-
Jwuwnpnigntbbtpp:  UnGnunnb  hweonpnwywlnigyntbbtpp
odinywé Gl hbuinlyw| Yuwplnpwagntt hwunynipyntbbbpny:

Btnptd 1. Gpbk {x,} hwonpnwywlnipnittp dnGnunnh
w&nn t L uwhdwbOwdthwy ybplhg, www Ow gniguadtn t:

Btnpby 2. Gpb {x,} hwonpnwywlnipnibp nGNWNG
0Jwagnn t L uwhdwOwthwy Gepplhg, www Gw gniguibun
E:

LS.

n+l

Uwwgnigklp  pbnptdl.-p: Pwlh  np {x,}
hwonpnuwywbnipnttp uwhdwOwhwy t ybpbhg, wwyw 3
Sup{x,}=a: Uywgnigtlp, np limx, =a: Cuwn YtiphG tgph
uwhdwbdwb x, <a: Ujnu Ynnohg VvV e>0 nbwpnid a—ée-np
nwnwnpnud £ y&phG Ggp |hGGintg (pwbh np o a-G ybphl
tqntiphg thnppwagnyla k), niuinh {x, } hwonpnwywnipywl
abe Ygwlbyh n, hwiwpny wjbwhuph wlnwd x,, np

x, >a-¢ L pwoh np {x,}-p OnGnunG waénn |, www
x, >a—¢&,Gpp n>n,, yntbGhwbp’

13



a—€<x,<a+e€
wbhwywuwnnigntbbbpp, Ywd np Gnylb £ limx, =a:

Wdd nhwwnytbp X”:(1+lj hwonpnwywbnieyntbnp:
n

Wu  hwonpnwywbnigntbp  dnbnuninbt w&nn £ L
uwhiwbOwhwy t ytpthg 3 pyny, hGunbwpwn pun pbnptd
1-h  yhGh gniqwdtun: Lpw uwhdwbp pOnniOjwé
Opwlwyt] e tnweny: e-0 hpwghnbwy phy t, e =2,71829...:
Gpt |nqunhpdh hhdpp e b, www wb Yngynid £ phwyuwl
(nqwphpy L gpyntd £ In-ny:

§4. dnLbyghwih qunuwithwpp, hhaGwywb nwppwyw
dnLGyghwbpp: 2nuq, Yehuin wywnpptpwyw
Pnibyghwbtp: <wywnwpd $nbyghw:

Uwhdwlnd 1. Yhgnip XL Y-p pwihb pwqintenibbtn
G0, L lnpdwé £ hGs np dh optbp, npny X-h jntpwpwbgnip x
pUh hwiwwwwnwuuwOnipjwb d69 £t npwd Y-h &hpun dky
yRrhd: Wn nGwpntd wuncd GG, np tnpdwé £ $nibyghw X-hg
Y-h dpw, L gpnud 6Oy = £(x):

X pwqgintpnitbp  yngynd £ pnlbyghwih  npndwl
wnhpnype b Gpwlwyynid b D(£)-ny, wuhbplt X = D(£), huy
Y-h plnnibwé hwiwwwuwnwuuwb wpdtplbpp Ynsynid §
dnibyghwih wpdtplbph pwqdinignil, npp Gowlwyynid L
E(f)-nd: y=r£(x) apnipub nbwpnid xp Ynsynud
wnpgnuibOw, Ywd wiywpu thnthnfuwyw, huy yp Yuifujwig
thnthnfuwlwl  Ywd  $nibyghw:  y=£(x) Pnibyghwl
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UnsUntd £ thnfushwndtp, bt E(£)=Y L gwllwgwé
X1¢X2:>f(Xl)¢f(X2), (f(Xl),f(Xz)G Y):

<pdbwywl wnwppwywb $nibyghwibp 6O hwlnhuw-
Onud wunh&wbwiht $nibyghwlbpp, gnigswihb, (nquphe-
dwywl, Grwoynibwswhwywld L hwwnwpéd Gewaynt-
Gwswhwywb dnibyghwltpp:

Uwhiwnid 2. y=7£(x) $niblyghwl YubdwlkGp qnug
$nilhghw, bpt Vxe D(f) wbnh nbh  £(-x)=£(x)
hwywuwpnipntlp  (-xe D(£)): OphGwy  £(x)=cosx,
f(x)=x*-3x*+2 $nilyghwltpp qnyg &G:

Uwhdwlnid 3. y =£(x) $nyghwl Yubdwlkap YeGun
$nilyghw, bpt Vxe D(Ff)=-xe D(f) L wbnh nibh
f=x)=—f(x): OphGwy’ f(x)=x"+x, f(x)=sinx
dnibyghwbbpp ythwn GO:

Gapwnptlp y=£(x) $nillghwl thnfushwndtp L,
www pun uwhdwbdwb y,,y,€Y, Gpbd y, #y,, wyw
OGpwlp Xh Jpw ynbGOwb hwiwwywunwuuwlwpwn
X, #X,, pOn npnud y, :f(X1) L .VZ:f(Xz): Ujuwhuny Y-h
jnipwpwbgnip - Q0 hwiwwwuwnwupuwOnugwb ok §
npyntd dshwogwdw)b npnwiyh xe X : Y pwqgdntpntbp Xh
dpw  wpunwwwwnytbpnn - dnibyghwbt  yngynid L £
$nibyghwih hwywnwpd $nibyghw L Grwlwymad £ £7':
Lhwuwbklp, np y=£f(x) L x=7"(y) 9Pnilyghwltph
gnwdhytbpp  Gnytt &6, huy y=7(x) L y=r"(x)
dnilblyghwltph gpwdhyttipp uhdbinphy  (hwiwsw) GO
y=x nunh  Ojwwndwdp:  Lhp  wjh  hhdbwyw
hwwynigintbGbtipp, npnbp gnyg GO wnwihu, pE hGswtu GO
Ywwydwé ninpn L hwywnwnpd $nibyghwbtpp:

1) bpb g(x)-n 7(x)-h bwlwnwnél t, www £(x)-p
£(x)-h hwhwnwnal t L D(g)= £(f), D(f)=E(g):
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2) D(f)-h jnipwpwlsynip  xh  hwdwp  welw L
g(f(x)=x hwywuwpnipyntlp (hbswbu Ol
Vxe E(f)= f(g(x))=x):

3) y=f(x) Inilyghwb fupunn dInGnuinnb wann (Gdwaqnn)
t L wopOnhww, www Opw hwywnwpéd dnibyghwl Lu
dnOnunnb wdnn (Gwqann) b L wOpbnhwuwn:

§ 5. dniGyghwyh uwhdwbh gunwthwnp:
Uowynnijwb L dwjuwynniyul uwhdwbGtn:
Urwohl Gwlbwynp uwhdwp:

Lwfu a Ybwh 6 2powywyp wubiny Yhwulywlwbp
lx—d/<d, wd np Gnyllb t a-d<x<a+d wihwjwuw-
pnLpyntbbGph0 pwydwpwnnn x YGinbph pwqinipynibp, npp
Yopwlwytlp Us(e), huy bpt wn dhowlwiphg nkl
GBwEGR @ Ysunp, www wib Yoowlwyktp Us(a):

Uwhiwlnid 1. A phdp Ynsynid £ 7A(x) $nibyghwih
uwhiwb xp a-hb dqunbihu, GpE $nibyghwb npnpwé  a
YGwh hbg-np 2powiywypntd, pwgh gnigh dhwyl @ Ytunhg, L
Ve>0, 30(e)>0, V xe L.Ja(a):|f(x)—A|<e:

Uhddnihy wyb gpntd GG lrig}f(x):A, wd f(x)— A, Gpp
x—a: bpb f(x) $nibyghwl « Ytwind uwhdwlb snilh,
pwjg 3£§3f(x)’ wj  Yopwlwyklp  f(a+0): <wiw-

x>a

wwuwnwufuwbwpwp, Gpt I lim f(x)= f(@—0) uwhdw0p,

www wt Juodwokap £(x) $niblyghwih dwuwynnijwi
uwhdw:

16



L
Ophbwy. f(x)=2*":Qwbk f(1+0)-0L £(1-0)-0:
1
f(1+0):1in112"‘1:+oo, pwGh np, Gpp x>1L,x—1>0
x>1

hGunLwpwp 11—>+oo, Gpp x - 1:

1

f(l—O)zlin}ZEZO, pwlh nnx<1,x—-1<0, htnlwpwn
x<1

La—oo, Gpp x > 1:
x—1

uaglbtbp ah pwbh Gwlwynp uwhdwbbEph hwpybnd:
w) Uwwgnigtlp, nn lin(}% =1, 0<x <% :
X—> X

Nhunwpytlp R wewydnnd 2powl, nph  YGhupnOp
gunOynud £ ynnpnhbwuinbbph hwdwywnpgh uygpbwytunnid
L LZAOB=x, AC =tgx:

e

v
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Qéwagphg hbunn £ GYwwnby, np S, < S <S

sek . OAB AOAC
R?sin x < R*x < R’tgx

2 2

wjuhOpl , hpinbtnhg Yuunwlbwbp

sinx < x<tgx: Gpp 0<x<% unwgywdé wihwywuwpntp-

sin x

jntbp pwdwlbiny sinx -h ypw unnwlbwbp cosx < <1:

X

Uu wlhwdwuwnpnignibbtpp  &ppin yhoeo  Owl, Gpp
—§< x<0, pwGh np 2% | cosx Pnillghwlbnp qnyg bG:
X

LPwih np wyu wohwywuwnnipntbO6ph dwfu L we Ynnikpp
dgunud 60 1-h, htinbwpwp pun uwhdwOOGph nBunLejwl

sinx

hwyuinlOh pEnptdihg lirrll— l:
X—> X
2. Oqunytiny e pyh uwhdwbhg Ywpbih t wwwgnigh,
nn 1im[1+lj =e¢: Uwulwynpwwtu, thnthnjuwywbh thn-
X

xX—>00

1
X

fuwnhGiwG Swbwwwnphny Yunwlwop' lirrol(l+x) =e:

§6. dniOGyghwh wapanhwuwnngntlbp, pEnpEaGGEN
wOpanhwuwn pnibyghwbtph hwnynepntbbbph dwuhn:
Swnppwywb Pnbyghwbtph wapbnhwwnnegynibp:
UGpGnhwuinnipjwb oguinwgnpdnidp uwhdwbGtn
hwytihu:

Uwhdwlnd. x=x, UYbwh hbg-np  2powluwypntd
npnpwé  £(x) $nilyghwt Ynsynid b wlplnhwun  x,
yGuwnniy, Geb
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lim £ (x)= /(%) wuhGpl Tim f(x)=f(tim(x))
Wuwhuny x, Yewnnud £(x) $nialyghwih wopbnhwnnip-

jnibp hwidwndtp b hGnlyw| wywjdwbatpha.
w) £(x) $nilyghwt npndwé b x, Yawnid L Gpw npny

2nowywpni:
p) Ilim f(x)=f(x,):

Stinh nibh hGunlyw| wbnnudp.

Pninp tnwppwywo  $nbyghwobpt wopbnhwwnn GO
hptiGg npn20wl inppniypned:

OphOwy: 8niyg tnwlbp nn sinx -p, x€ R-nud wOpbnhwunn £:

.. . . X—X X+x
Oquybny sin x —sin x, = 2sin 5 % cos 0

2
pwlwélhg L O4wwh  nbowny’ cosX+2X° <1, huy
sinX_zX0 < X_2X° . YuuwbwaGp ‘sinX—sinXO‘ S‘X—XO‘Z

{Gwnbwpwn x — x, = [sinx —sinx,| >0

Urwlg wwuwgnygh G260p thwy hwundwénid wbpln-
hwuwun Inibyghwbtnh dh pwbh ginpw) hwunynepynibbtn:

Btnpbld 1. (Pnigwln-Ynzh) GBpt £(x) $niblyghwl
wopnhwun t [2;6] hwindwéh pw b swjpwytnbpnid po-
nnintd £ wvwpptp  Gwbh  wpdbplbp,  wjuhbpl
fla)- f(6)<0 wuww (a:6)-ntd YgunGyh gnlb gty c Y, np
f(c)=0:

Btnpbld 2. (Pnigwln-Unyh) GBpt £(x) $nibyghwl
woptnhwun £ [2;6]-nd L f(a)= A, f(b)=B(A<B), wwuw
hGswhuhlG k| |hoh CO A<C<B,[a;b]-h Gbpuntd Ghpwn
YgunGyh dh wybwhuh ¢ ytwn, np £(c)=C':
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Btnpbd 3. (Ywjbpaunpwu) Gpt £(x) $nibyghwl w-
GpOnhwn t [2;6] hwindwéh Ypw, www Gw uwhdwbwthwy
t, wyuhlGpl3C >0,nn

Vxe [a;b]:\f(x] <C:

Btnpbld 4. (wjbppwpwu) Bpt  £(x)  $niblyghwl
wopinhwwn t [a:6] hwnqwsh Ypw, www Opw hwdwp
&2gnhwin yGpha L unnnphb Ggptpp hwuwOGh GG: Uy Yepw
wuwd, bph Sup{f(x)}:M,xier[ifk)]{f(x)}:m, www  [a;6]

xelasb
hwuwundwoénid Ygunbyth wjbwhuh C,,Cy ytuwntp,
nnf(c)=M,f(c,)=m:

Wda ogudbind  dnibyghwyh  wOpbnhwuinnipnibhg
hwpytlbp dh pwbh Gowbwynp uwhdwbOtp, npnGghg dGOp
hGunwaguwynid oguinybnt Gap :

3.limw

x—0 X

Ppnp,  oqunGing  nquiphpdwlywl  dnilyghwih

=log, e:

wopOnhwwnipinithg L fim(1+x) =¢  uwhdwGhg,
yntbGhwbp

log (1+ 1
limM = limlloga(l+x) =limlog, (1+x)* =
x—0 X x—0 x x—0

1
=log, lin(}(l +x)* =log, e:

Uwulbwynpwuwtu, a=e nbwpntd Ynb6Gwbp

lim In(1+ x) .y
x—0 X
4. lirrola -1 =Ina(a>0,a#1):
X X
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Lowlwytlp a' -1=r=a" =1+1= x=1log,(1+7): Mwpq
t, np Gpp x—>0=t—0: Uhpwetnd 3. uwhdwlp,
ynibGhwbp

at—1_ .. t 1 .
lim =lim = =Ine:
x50 x -0 log (1+1) log, e

Uwulbwynpwwbu, a=¢ nbwpntd YntbGhwbp
e —1

x50 X
Lowlwytlp 1+ x)* —=1=4 , wuwnqg t, np Gpp
x—0=p —0: Uuwnbnhg YnibGawap' (1+x)" =1+ 3,
aIn(1+x)=1n(1+ B): Lywwh notGwnY Ytpohhu,
ynibGhwbp
im I iy B g 00D
x>0 X A~0In(l+ f) 0 x

=la-l=0:

§7 dniGyghwih wéwhgywip, Gpw dEluwGhywywa,
Epypwswhwywb hdwuwnbbpp:

Nhgnip y=Ax) $nlyghwb npnpqwd L xe (a;b)-nLu:
Glpwnntlp x, € (a;b),x,-h0 nwlbp wjbwhuh Axwé&, np
(Ax > 0,Ax < 0),x+Axe (a;b) : QunlGUp  Ax)  Pnbyghwyhl
hwiwwwwnwufuwlb Ay = f(x, + Ax) — f(x,) wap:

Ay

UwhiwGnid,  bpt  Flim LCeTA0 /(%) _ ;) AY

Ax—0 Ax Ax—0 Ax

uwhiwbOp, www w0 Juwojwotop f(x)  $nbyghwh
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wowlgwy x, Yannd L Ugnbp f'(x,) Yud  y(x,)

ninnwyh y* Jud ;Zy: Gpti x, Yainnd £(x) nbh ytpowynn
X

wéwlgwy], www Ywublp, np wn Yeunnd $nibyghwl
wdéwagbih t:

@tnpGd. SYyjw; YyGuninud wdéwbgbih pnilbyghwb  wyn
yGwnnd wapbnhwun t:

. Ay .

hpnp, pun  wwdwbh Hgg})a_f(x) uwhiwlp:

Ay:izAx GnuOnupwl oby  wOglbnd  uwhdwah,
o Ay Ay o Nn_n-
ynLOGGwbp Ay—gg})AxAX—g?oAxgg%AX—f(x)O—O.

{wywrewy  wonnip  &hpinn sk: OphGwy — y=| x|

dnibyghwb x=0 Ytwnnd wlpbnhwwn £, pwyg wéwbgbih st:

{Gpuin b hwdngyb, np wn $nibyghwl x=0 Ytuwnid
wopnhwuwn £

Tk

0 v X

q6.1
0)=£0-0)=A0+0)=0: 8nyg wwlp, np wyn pnilyghwl
x=0 yGunnid wéwbgywy sniap:
bpnp, f(0+Ax)— £(x)=]0+Ax—[0] = |Ax|:

<wiybbp, hpnp, £(0+Ax)— £ (x) =[0+ Ax| -[0 = |Ax :

f'(0-0)= 1imM = 1imﬂ =—1, f'(0+0)= 1imM = 1im§ =1
AIX—X) Ax M0 Ay AAx;OX) Ax
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<GuinLbwpwp, pun  uwhdwOh Jdhwynipjwb pLnpGoh
f(x)=]x| $nibyghwb x, =0 Y&wnid uwhdwh snbh:

Wda 0260p wéwbgywih dGuwbhywywb Yphpwenipndbp:
Glpwnptlp Onipwywl Ytuwnp wndynd  ninphn gény
S=A# optlpnd, npntn #0 dwiwbwyb t, puy Sp win
dwiwlwywaihongnid  wlgwd Awlwwwpht £ LykGap
dwawbwyh nplk 7, wwh:

Wn wwhpb Ytuinp wglb £ S, = f(z,) BSwlwwwnph:
LO00wnytlp htnlwy fubnhpp npnptp Opnupwywl YGunh
wpwgntgntp  dwdwbwyh ¢,  wwhhb:  “Yhwnwpytlp
dwiwlwyh 7, +Ar wwh: Lpwl Yhwiwwwwnwufuwbh
S=f(t,+Ar) Swbwwwph: Wn nGwpntd Ar=¢—1t, wywhhO
YGwp Ywbgbh AS =S-S5, = f(t, + Ar)— f(t,) Swlhwwwnh:

>Cn

g6.2

At dwiwlwywhwwndwénid wpddwb dhohl wpw-
AS
anipjntbp Vine. Ynnpnzyh I/ahg.:A—t pwlwadlny:

Conncbnid Gop, np dwdwlwyh uygqpbwywb wwhp ¢,-0

bhpudws £, huy Ar=0 thnihnfuwqub £: Wn nGwpntd Vipg.-n
Lu  YthGh  thnihnfuwywl Yuiudwé  Az—-hg: 7, wuwhhg
hwiwwwwnwufuwb  V,wpwagniguip Yubdwbtbp Vipe.-h
uwhdwlp, Gpp Ar — 0, wuhbpl

Wuwhund, npwbugh hwpyblbp dwiwbwyh 7, wwhh
V, wnwgntpntlp wlOhpwdtwun k hwyb|
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iir%f(toJrAAtt)_f(tO):S'(to) uwhiwbp: WuhGpl Onipwyw

Ytuinh ninnwaghé wnddwl V wpwagnipintbp dwdwbwyh ¢
wwhht nw S ASwlwwwphh wéwlguwil t pun ¢
dwiwbwyh:

Wdd pwgwhwywntlp wdéwlgwih Gpypwswhwywb
hdwuwnp:  Thunwnytlp  y=A4x) Ppnibyghwih  gnwphyp:
bhpubilp (a;:b) dhowyuwyph x,Ytinp L Arwdp ybpglblp
w)jbwbu, np x, +Axe (a;b) (nYw| nGwpntd Ax —0):

<

\

\'4

N EE T

<Y
Q0
&
w

A(xy; (%)), C(xo +Ax; f(x, +Ax)) - Ybuinbpny  whglnn
ninhnp woywlkbp y = f(x) pnibyghwih gpwdphyh Gzyws
ytuntpny woglnn hwuwnn:

Lywlwytklp  ZCAB-G  ¢(Ax)-nd, www ABC
ninnwaynib GrwOynitbnig Yunnwbwbp

Ay
tg(Ax) = —:
8 P(Ax) A
UwhdwOnd. Gt gnnipintt nlth - AC hwuwnnnh

uwhdwlwyhG  nhpep, Gpp € Ytwp  dbwind  )=1x)
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dnibyghwih gnwdhyh Yypw dgunid t AhG ( Ywd Gpp
Ax — 0), wyw uwhdwbwhbt nhppp AM-p Ynsynid £ =14 x)

Unpha A yGuinnd tnwpywé pnwithnn:
Uwhdwlndhg punwd £, np Gt gninipintd nibh y=4x)
dnilblghwih gnwdhyh A Ytnhg tnwnpywd 2nzwithnnp, Yud

gnugntt nuoh AM2AD =90 puhdwop,  www

f'(x,) =180,:

Wuwhuny, wéwbgjwip wnpdwd x, Yawnnud, nw y=£x)
dnilblyghwih gpudphyh (x,; £ (x,)) Y&wnnud tmwpwé 2nzwihn-
nh woynibwihla gnpédwypgl £, huy wyn 2nwihnnh hwyw-
uwnpniip yhap

y= f(xo)'*'f'(xo)(x_xo):
y=x) dnillyghwih gnwdhyh A Yewnnud AM nzwithnnpl
nwpwdé ninnwhwjwg AN ninpnp Yngynud £ y=4x)
dnibyghwih  gpwdbhyp Gnpdwp A YyGuninud AM ninpnp

Unsuntd £ y=4x) dniblyghwih gpwdphyh Gnpdw A Yeunned,
nph hwjwuwnpnidp Y hap

y=f<xo)—f%xo)<x—xo>:

§8. Udwlgiwh wlnGGtpp:
Swppwywb $nLbyghwbtph wéwbgywy btnp:

BGnptd. Gpbt f(x) L g(x)Pnbyghwlbpp x YGuney,
nLO60 wéwhgwy, wuww inbnh nlbG0 hbuinlyw) pwbwdlbpp.

w/ (f(x)+g(x)'= f'(x)+g'(x)

P/ (f(0)g(x)'= f'(x)g(x)+ f(x)g'(x)
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f(X)),: S )g(x0) = f(Ng'(x)
g(x) (g(x))*
Uwwgnigtilp pGnptdh w/ wlnnudp:

Ay o [SGEHA) eG4 A [ f () +8() ]
T A0 Ax -
_ hm( f+An) - f(x)  glx+Ax)—g(x) j:
Ax Ax
= lim f(x+Ax)_f(x)+1im g(X+AX)—g()C) :fV(x)_l_gv(x):

Ax—0 Ax Ax—0 Ax

q/ Gpb g(x) #0, www (

Ax—0

p/ Ay = fx+Ax)g(x+Ax)— f(x)g(x), y=rf(x)g(x):

Ax
g(x+Ax)—g(x)

Ax Ax flxh=

q/ y= f(x) wiyw g-n ynibGOw hGinlyw| inbupp

g(x)’

f(x+Ax) _ f(x) Af(x) _M
A _ga+A) g _ ax ST A TW
Ax Ax g(x+A0)g(x)

unwgywoé hwyjwuwnpnipjwb dbe waglbiny uwhdwah, Gpp
Ax — 0, Yuunnwlwbp g/ pwlwdlp:
{Gwnbwbp. Bpt Ax dnibyghwlb x yYGuind nibp
wdéwbgjwy, huy C-0 hwunwuinnib k, www
(Cf (0)=Cf'(x):
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Gpt p/ pwlwdlh oky ytpglblp g(x)=C , hwyyh
wrGGny, np g’(x)=0, Yunwlwbp htinlwbph wwwgnigp
(hpnp, y=C = Ay =0, htinLwpwn, y'=0):

Wdd nnipu pbpGlhp  wvwppwywb  Inibyghwbtph
wdéwlgjwbbpp:

1.(x*)=ax®", npintin ae R:

Cuwn uwhdwOdwb nlbkbp

s

— lim (x+Ax)" —x

(x*) = lim =
Av—0 Ax Ax—0 Ax
xa_l{[l+mj —l} [H_Ax -1
T X 2 X _ a—1
lim Ax =x" lim A
X X

2.(a")=a"Ina, S wubwynpwuwbtiu (e*) =e¢* : Oquytny
wdéwlOgjwih uwhdwbniihg
! a—a . a(av-1) . a~—1

(a*) =lim =1lim =a*lim

Ax—0 Ax Ax—0 Ax—0

’

3. (sinx) =cosx

) ) 2sin—cos| x+—
¢ sm(x+Ax)—smx . 2 ( 2 j
= lim

(sinx) = lim
Ax—0 Ax Ax—0 Ax

sin——
= lim 2 limcos[x+£j=lcosx=l:
Ax—0 Ax—0 2

4. (cosx), =—sinx
Uwwgnigynid £ hoswbu 3.-h nGwpnty:
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5.(tgx)'=—75—:
cos” x

(g0 = sinx ) _ (sinx)'cosx—(cosx)'sinx _cos’x+sin’x 1
cosx cos® x cos’ x cos’ x|
1
—
6.(ctgx)'=———;

sin” x

Uwwgnigyntd £ hoswbu 5.-p:

§9. <wywnuwné pnibyghwih wéwbgywyp, GinLu
wnwppwywb $nbyghwbtph wéwbgwibtpp: Pwpn
dnibyghwih wéwbgywip: Uundwbwgnighsuwhl
dniGyghwih wéwbgywyp:

@tnptd. Gpt y=f(x) $nibyghwd wlplnhwwn t L
fuhuin  dnOnunG £ /wsnn Ywd  Gduwann/  [x, — 8;x, + 3]
hwwndwdh ypw b 3f'(x,) #0, www x=¢(y) hwywnwnd
Pnibyghwl y, = f(x,) Yawnned ntbh wéwbguwy L

: (.
q’(yo):foo)-

Uwwgniig. GOpwnptbp [x, - &;x, + ] hwwndwéh Ypw
f(x)-p wann t: Wn nbwpnid  y=f(x)-h hwywnwna

x=(y) dnibyghw npn2ywé Uthbh
[ f(x,=8); f(x,+6) |hwundwéh ypw b GniyGwbu Y hah wénn
L wOpOnhwuwn:

Gpt x,-hG wwlp Ax wd (0<Ax<d), www y,-0
ynibGow Ayws L pwh np f(x) $nbyghwl fuhuwn
dnGnunnb wé&nn k£, ntunh Ay # 0, hGunLwpwn,
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1

o

:E:
Ay
A
Pwlh np ggn@%f'(x), huy 20nphhy Ax) niGlghwih
wOpUnhwwnnipjwl Ax — 0= Ay — 0, nLunhp

. Ax 1
lim — = :
a0 Ay f(x)
Wda wlgltbp Gwpunpn wwpwgpwdh wnwppwywb
dnbyghwbtph wéwlbgiwb pwlwdélbtph wpunwéiwbn:

7. (log, x)' = ——:
xlna
Llwuwnh nibGbwind, np y=log, x = x=a’, ogquybiny
hwywnwna dnLbyghwih wdéwhgiwh pwOwdlhg
ynibGhwbp

1 1 1
log x)'= = = :
(log, x) (@’)' a'lna xlna
8.(arcsin x)' = 1 ,xe (=11):
V1-x?
y=arcsinx,x € [—1;1] $nilyghwl x=siny [ye{_g;g}j

dnbyghwih hwywnwnd $nibyghw £, hGuinbwpwn
1 1 1 1

(siny)'  cosy _\/l—sinzy C-a

(arcsinx)'=

1
9. '=— : Uywgnigynid £ hGswtu 8.-p:
(arccos x) m wuwgntgy Ehbsw 0
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10.(arctgx)' = n 1

X2 :

y = arctgx(x € (—oo;+00)), x =1gy (ye (_%,%)j
dnibyghwttpp  thnjuhwywnwnd  dnbGyghwibp &GO,
hGunLwpwp,

5 1 1
=cos” y= = S
(tgy) I+tg"y 1+x

(arctgx)'=

2

(arcctgx)'= - L Uwuwgnigynid t hGswtu 10.-p:
+x

Wdd wpunwétbp  pwpn  dnbyghwh  wdwbgiwl
pwlwadlp:

Btnptl. bpbk y=g(x) L u=f(y) Pnbyghwlbpp
woéwbgbh 60 hwiwwwwnwufuwbwpwn x, L y, YGnbpney,
npunbn  y, = g(xp), Www u = f(g(x) pwnn dpnillyghwb  x,
YyGunid ntbh wéwbgjwy L inbnh nlbp’

u'(xy) = f'(8(x))8"(x,)

Luiu, pwlhnp £(y) b g(x) $nibyghwibnp wplnhwwn
GO x, L y, Yawnbpnod, www «(x) pwpn $nbyghwh Yhah
wbpbnhwwn x, Yewnid: Gpb x,-h0 lnwbp Ax w&, wuww
Yo-0 yunwlbw Ay wa: Bwlh nn

£(50)=lim f o+ Ay)= ()

Ay
Oy +Ay)=f(v)
Ay

=fv)+a, (@—0):

Leinbwpwn, Au = f(y, +Ay) = f(y,) = f'(¥))Ay + Ay :
PRwdwltin Ybpoht hwjwuwpnigjwb Gpyne ynndbnp
Ax -h ypw, Yuunnwbwbp
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Au , Ay
— = —~ta—
Ax I (o )Ax Ar

Pwlh np %%g'(xo), a—0, bpp

Ax > 0(Ay > 0 Ax — 0):

uagbting Jtpohlt hwywuwpnipjwb d69  uwhdwbh,
Yuuinwlwbp pEnpbih wwwgnigp:

Wdd nhurnwnpytlp wjuwtu Ynswéd wundwbuwgnigswihl
dnibyghw, wyuhGpel pnibyghw, nph b gnighsp, L hhdpp
x-hg Yuiuyws pnibyghwbbn 60 y = [u(x)]™

Gopwnptlp u(x) L v(x)-p wéwlghh &O: <wyklp
Iny =v(x)Inu(x): Oqunytiny pwnpn dnibyghwih wéwbgiwl
YwlnOhg, wowbgtin ytpoht hwywuwpnigjwb we L dwfu
dwubpp, Ynlbtowbp.

1 1 1 1 1
—y'=vinu+v—u',
y u

vu ) :
u u
OnhOwy. hwyyty y = (x> + D™ $nibyghwh wéwbgjwip:

u' !
=u"'(v'lnu+

In y =sinxIn(x* +1)

NLOGGp ly':cosxln(x2+1)+sinx 22x , nnuntinhg’
y x +1

2xs1nx)
)

Wuwhuh  wdéwlgnip Yynsynd £ inquiphpiwyw
wdéwbgnid: Wo Gpptdl hwpdwp £ Gwb Yyhpwebl, Gpp gnpé
nLOoGOp pwpn Ynuinnpwybtph htun: OphGwy™ hwytg

(=2 Ax7+1
sin x(x +1)°

y'=(x* +1)" (cosxIn(x* +1) +

dnilyghwh wéwbgywip;
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NLbGOp™ Iny= 3ln(x—2)+éln(x2 +1)—=Insinx—5In(x+1),

1 3 2x cosx 5

—y'= + - - , hpwnknhg

yy x—=2 5(x*+1) sinx x+1 nuntinhg

y,:(x—‘2)3-\/x2+1( 3 4 2x —ctgx— 5 )
sinx(x+1)* x—-2 5(x*+1) x+1

§10. nibyghwjh nhdtipthghwip, Gpw
Epypwswhwywb hdwuwp: Yhdtptaghwip npwtiu
anunwynp hwgiwlb éu: Urwehlh Ywpgh
nhytiptaghwih gnpnipjwb duh hawphwOwnnipyniGp:

gnip y=f(x) dnillghwh npndws t x, Yewh
J 2nowwypntu:

UwhdwlOnd1. bpt y=f(x) $niblyghwh Aywép x,
yGwinid Ywptih b OGpQuywglt

Ay = AAx +0(Ax),Ax —> 0
wntupny, npunbn A0 YJuiudws st Arx-hg, www  f(x)-p
Ynsynid £ nhptiptaghih wyn yGunned:

Uwhdwbnid 2. dnibyghwih wih gijuwdnp dwup AAx -np
Ungynid £ Ppniblyghwih nhdptpbghwy L Gawlwyynid L
dy Y df :

{bnlwy pbnptop Yww t hwunwwnnud Inilbyghwih
wowbgjwih L nhdbiptaghwih dhol:

Btnptd. Npwtugh f(x) $nibyghwlh x, YGwnd |hah
nhytptlgtih, whhpwdtwn t L pwdwnpwn, np wyn YGwnnd
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$nibyghwb ntbGOw yEpowynp wéwbgjwy, nbn npnud inknh
ntbh hGnbyw) hwywuwnnipntbp dy = f'(x,)Ax:
UGhpwdtiwnipinia. Get  f(x) $niblyghwl  x, Yewnnid
nhptintibgtih £, wn nbiwpnud
Ay = AAx+ a(Ax),Ax = 0:
Lwywuwpnipjwb Gpynt Ynndp pwdwObiny Ax-h ypw b
woglbind  uwhdwOh, YynbGOwbp w9 Ynninud A,
hGunLwpwp dwfu Yynnip Lu YynibGow uwhdwb L wyb Yhoh

J'(x):
Pwdwpwpnipintb. Ghpwnptlp 3f'(x,)-0, wn nGwpenta.
Ay = f'(x,)Ax + 0(Ax),Ax = 0,
npp wpgwé Yewnud £ (x) dnibyghwih nhdtinkagtihnipjwt
uwhdwbnwib k:

Uwulwynpwwtu, f(x)=x nbwpnid  YniGGGwlbp
Ax=1ldx, wn wwwiweny y=£(x)  pnbyghwh
nhdtntlghwip Ywnbih t anty hnlyw) nbupny

dy =df = f'(x)dx:

Lwlh np nhdtptaghwip dniGyghwih wah gjtuwynn
dwub £, wwyw dnunnwynp hwyndbtp Yuwunwpthu, hwiwfu

dnbyghwh wép hnfuwphtnud 6O nhytptaghwind L
unwlnid f(x) = f(x,)+ f'(x,)(x — x,) pwbwdlp:

OphGwy. GunGky 3/28 dninwynp wndtpp:

Qhinwpytle  f(x)=3¥x  $nilyghwlt x,=27 Ybwnud:
Jtpgltiny Ax =1 L hwyh wrlbny, nn

1 1
Q27 = ——=—,
f'@27) W 27

inbnwnptiny unwgywé wpdbpltpp

Jbpohl pwlwalh b, Yunwlwhp v?s:a+217, wyuhlpk

3/28 ~3.037:
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Thgnip y= f(x) Pniblghwl x, Yannud nhdptintagtih t,
htunbwpwp, $nillghwhl M, (x,:y,) Yannd  Yunbih
tnwbb| 2n2wihnn f'(x)=tgcx waynibwyhb
gnpéwygny(gs.1):

A

Y
y=f(x)
%x;y)
Mo(xo;y ’M
N
/ .
0 X, X, + Ax X'
q6.1

MN-p Yihah y = £ (x) $nilyghwih wap, wuhlpl

Ay = f(x, +Ax) = f(x,) = MN , AM,NK -hg
KN =M N -tga = f'(x,)Ax, wyuhlplb dy = KN :

Wuwhund, y=f(x) $niblghwh nhtintilghwin x,
Ytuinnud, wyn Ytunnd pnbyghwihtG tnwpgwdé 2nwithnnh
onnhbGwuwh wah k, Gpp x, YGinhlo rwhu Ghp Ax wA:

LytUp nhdbpthghwih dh uwplnp hwwnynipnib Lu:

y = f(x) $nLbyghwih nhdptintagtihintpjwl gpnipjwa dlp
abnud £t wohnthnfu, wjuhbpl

dy = f'(x)dx,

X0 |hGh Yutujwy, pb waywfu thnthnfuwyw:
Thgnip x=g(r) Pnibyghwl wéwgtih k pun £h L Gpw

wndbplbph  pwqunigniop wwwlwond £ y=f(x)
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dnibyghwyh npnzdwl  wnhpnyphl (E(g) = D(f)):  Wn
nbwpntd y = f(g(r)) $nilyghwt Yihth nhdtintagtih: hpnp,
oginybind  pwpn  dnGyghwh  wéwlbgiwlb  Ywlnbhg,
Yuinwwlp y'=fele)g(0), htwnlwpwn,
dy = 1'(g(t))g’(t)dr: Rwlh npg’(t)dr = dx, www dy = f'(x)dx
danud E wahnuhnfu, Gpb x-p thnfuwphGnid Gop g(7)-ny:

§11 Pwpdp Ywnpgh wéwagjwibtp L nhytnptaghwGbn:

Bet £ (x) $nilyghwl npnagws t (&6) thowywyph Ynw
L wyn dhowywph jnipwpwbygnip Ytunnwd nibh wéwbgjwiy,
www Opw wéwlgjwip wn dhewywiph Yypw npndwd
$nilbyghw t, huy Gt wn nibyghwld nbGlw wéwbgjwy,
wuww wl Yngynud £ f(x) $nilghugh tpbnpnpn Gungh
wéwlgw, L Owlwyynuid £ f"(x): Wuwhund,
[0 =(f"(x)': Conhwipwwtu, 7-pn Yupgh wowlgjwip
uwhdwOynd £ npwbu  (7~1)-pn  JYwpgh wéwbgwih
wéwagywy: Wuwhund, Gpt $nibyghwih 7—pn wdwbgjwip
Gwlwlblp £ (x), www fo(x)=(fo(x )"

OphGwybtp.
1.Qwn0GL  gnigswhG - pnibyghwih  y=a*, 7-pn Yungh
wéwaguip  y'=a'lng;y'"'=(@ lna)=a*In*a, oquytiny
dwpbtiwwnhywywb htnniyghwih dGennhg, Ywwwgnigblp,
npn y” =a*In"a:
2.Qunlb] y=sinx dnibyghwih 7pn Yuwpgh wdéwbgwp:

. . Ty 7 Ty T _
y —cosx—sm(x+2),y (sm(x+2)) cos(x+2)
:sin(x+£+£):sin(x+2~£)
2 2 2
LbwinLwpwp, nddwn sk hwinqyb, np’
35



y* = sin(x+n-%):
3. UGwying Gnwbwyny y=cosx pnilyghwjh hwiwp

T
y™ =cos(x+n -E) :

4. yzli, anphg  oqudbiny  dwpbiwnhywyw
X

hGnniyghwjh dGpnnhg Ywnptih t hwanqyti, np
w=( 1 yor = (-Dwn!
L T

5.y =1In(1+ x) : Rwlh np y':L, wuww
1+x

(In(l+x))" = (%)w-“, nLuth puwn 4.-h YnLOGOWGE'
X
o (D" (=1t
In(1 W~
(In(1+ x)) 110

Wdd wlgllp pwnén Yunagh nhdtiptaghwiGGpha:
Ohgnip  y=f(x)  Pnlyghwt woéwlgkh Lt (ab)
dhowywypnid: <wiwdw)b nhpbpthghwih uwhdwGdwl
dy = f'(x)dx:

Urweohl Ywngh nhdtintlghwih nhdtiptlghwip Ynsynia
b Gpunnpn Ywpgh  nhdtiptOghw| /GpG  hhwplyt  wjl
gnjniRyntl nubp/

d*y=d(dy):
Wu uwhiwbnidhg pfunid £, np
dy=d(f'(x)dx)=d(f'(x))dx = " (x)dxdx :
Ujuwhuny
d’y = f"(x)dx*,dx* = (dx)* :

Uwhiwond.  y=f£(x)  $nbyghwsh  7pn YJupgh

nhdtptaghwy  x YGwnwd  Yngynd & (#-1)-pn Yupgh
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nh$tptaghwih nhdtnptlghwip L Gpwlwydnid £ 4™y Yud
d"™f:
Ujuinbnhg Ywpnn Glp gnby’

d(n)y — d(d(n—l)y) :

Oqunytiny dwpbiwwhywywh hinniyghwih dGpnnhg,
wwuwgnigynid k, np
d"y=f"(x)dx" (dx" = (dx)"):
dbpohl pwlbwdlhg unnwbnid GOp

ay_d"y .
f (x)—dx,,.

§12."hdptipkaghwy hwayh hhdbwywb ptnptultpp’
dtipdwyh, Nnyh, Lwgnwbdh, Unzh:

Lwfupwl nhdbptlghw hwyyh hhdlbwywb ptnptilk-
nht woOglbp O6pdnwstlp dnibyghwyh tpunptinidh hwu-
YwgntpjniOp:

UwhiwOnd 1. Ywublp, np  y=f(x) 9$nibyghwl
npnawd x, Yeunh U(x,;0) 2powywypntd, x, Ytunnwd nibh
dwpuhdntd(dhbpdnid), Gt  wn  2powlwiph  pninp
yGuinbpnud, npunbn $nibyghwlb npnpdwé £, winbnh nubh
FO<F(x) ()2 f(x,) wlhwywuwpnipnilp:

dniGyghwyh dwpuhdntdh L dhGhdnwdp Yeuinbpp Ynsynid
G0 $nibyghwyh punnptiniih Yewnbp:

BtnpLi(dEniw). Gpt f(x) $niblyghwl x, YGwinid nilh
(nYwy (nbtnwihlb) tpunpbind L wyn yGuind JGpowdnp
woéwlOgwy, www wjb hwyjwuwn £ qpnyh:

GOpwnpblp f(x) $nibyghwh x, YGunud nibh (nhwy

dwpuhdnty, wyn nGwpntd fx)=f(x,)<0,
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()= £ (x,)

npwntinhg f >0, Gpp x<x,, L MSO,

X=X, X=X,
Gppx> x,:

Ubgltin uwhdwbh, Gpp x —x,, oh Ynnuhg unwlnid
GOhp f'(x,—0) =0, huy Gjntu Ynndhg f’(x, +0)<0: Lwlh nn
f(xg=0)=f"(x,+0)=f"(x,), nwwnh  Ghwrdwiwlwy
f(x)=20 L f(x,) <0, htinbwpwp f'(x,)=0: Uwwgnign
twwbtu sh tnwpptpynid (njw dhGhdnwdh nbwpntd:

[BGnpGAa(Nny)). 6pL f(x) $nlbyghw

1.wlpGnhwun £ [a;6] hwindwsh Ypw,

2.nL0h Ytpowynp wéwbgywy wraqwqb (a;)Showlw)ph

Upw,

3. fla)=f() , www 3 gnlk vkY ce (a;b) Y, np

fle)=0:

Cunn  Ywjtppunpwup I pGnptap, Ax)  dnibyghwyh
&2gnhwn y&pht L uinnphb Ggpp hwuwGh G0, wuhbpl, Geb
Opwlwytlp M = sup f(x), m= i<n£bf(x), www gnjnieintl

as<x<b

nLOG0 [a;b] hwwndwdéhlt wwwnywlnn ¢,c, Ytwbn, np
f(cl):M’ huy f(cz):m:

LO00wnyLLp Gpynt nEwp.

w) M=m Un nbwpntd £ (x)-p YthGh hwuwnwinntb [a;5]
hwuwnywdéh ypw, £'(x)=0:

p) m<M {wiwdwjb ptinntdh Gppnpn wwyjdwbh ¢, L ¢,
Ytinbiphg gnGt dbyp YihGh [a;b] hwindweh GepphG Yen,
hGunLwpwp, pun dEpdwih pEnpGdh, wyn YGunnd nily-
ghwjh wowagjwip hwywuwn £ gnnjh:

MNnh pGnpGdb nlGh hGnlywy Gpypwswhwywb hdwu-
wnp, Gpb Pnibyghwl pwywpwpnid £ Nnph pGnpedh wwy-
dw00Bnh0, www pnibyghwih gpwdbhyh ypw Yguinbyh gnlt
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a6y M Y, np wn yeunnwd gpudphynb tnwipywé 2nwihn-
no gniqwhtre  wpughubbph wewGgph((gd.1):

YA
Mo(:%;)’o) :
/- N M,(xﬂ()/:

1
)
I
1
1
1
1
a

I
I
|
1
1
1
1 1
X,

Xo

q6.1

Btnptd (Ynzh). Thgnip f(x) L @(x) PnLbyghwbbnl
wopinhwwn 60 [a;6] hwundwénid, woéwbgbih 6O (a;b)
haunbpduwind b ¢@’(x) 20 Vxe (a;b): Ui nbwpnid  (a;b)
hauinbpdwinid gnnegynta Yynbtbw wrbtjwqb dh ¢ b, nph
hwdwn’

fb)~fla) _ f© :
pb)—p(a)  ¢'(c)

(1)

Uwwantg. Lbwfu hwdanqytlbp np @(b) # ¢(a), wyuhbpl
(1) pwOwdllb hdwuwn nibh: bpnp, Gt @(b) = ¢(a), www
@(x) $nibyghwl pwywpwpnd £ Nnh penpbdh pninp
wwyiwaaephh L (a;b)-nid gnynipinth YnibbGw gnOt o6y x
Ytw np @’(x) =0, npp hwlwuntd Ep ptnpbdh wwydwOha:

Ujdd nhunwpytbp F(x) = f(x) — A@(x)(A = const) dnLOY-
ghw(: Ax) $nbyghwl pwywpwpnud b Nnh pEnptap 1. L
2. wwpwbospht: A-0 pGupblp wlwbu, np  Ow
pwdwpwph wyn pbnptdh Gwb 3. wwydwOhb, wuhGph
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R&=Rb), npnbnhg YniGbowep, np A=L@=/@.
o(b)—@(a)

<Enlwpwp dce (a;b) nn F'(c)=0, wjuhGpl

. , B - f@ _ f(©
-A =0, G =
[ (©)=A¢ (¢)=0, npinkinhg o) —a) - 0@

@tnptd  (lwgpwld). bpt  y=f(x) $nbyghwl
wopinhww b xelap]-nd L wéwagbih  txe (a;b)
hGunbpdwinid, www wjbwntbn Ygunbyh gnlbt a6y ce (a;b)
yGuwn, nph hwdwn

b)— .
TO-LD _po: @)

Uwwgnig. Ynynt (1) pwbwdélh 0k plnniibip ¢(x)=x:

UniitOwbp @) =b, ¢(a)=a, ¢ (x)=1 L, htinLwpwp
fb)—f(a) — (o)
b—a

Mwpqtlp Llwgpwbdh pEnpGdh  Bpypwswthwywl
hdwuwnp: Shgnip AB Ynnp f(x) $nillghwh gpudhy t
(96.2):

Bl Sttt

(Y
al-=-===--F--

Q
o
N
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f)-f(a) _BD

. " ap hwpwptnntp-
jnip - AB hwuwninnh  woynibwha gnpéwyngld
tgﬂ:f(b)—f(a):

b—a
hdwuwh f'(¢)-0 y=f(x) Ynpht x=c wpughu nLOkgnn
Ytuinhg vnwpywdsé 2npwthnnh woynibwha gnpéwyhglb
f(c)=tge: lwgpwGdh (2) pwlwdth hwiwdwd
tga=tgf:

Wuwhuny, pbnptip wlnnud L, np AB wntnh Jpw
Yagunbyh gnbt dEY ¢ Y, npuinbnhg tnwnpywéd 2nwihnnp
gnigwhtr t AB |wphl:

LwgpwbOdh pwlOwdlp hwdwiu Yyphpwreyntd §

fb)=fla)=f'(c)-(b—a) wnbupny:

c—a

AQéwagphg hwnunid £ np

Cunn  wéwbgwih  Gpypwswhwywb

Lwlh np a<c<ph, nlunh O<ca<b-a => 0< <l:

b—a
c—a

Lowlbwytiny 6= P

, Junwbwbp

c=60-(b-—a)+a(0<B<1):
Lwagpwbdh pwlGwdlp ypnnibh hGunlyw| inbupp
fb)-fla)=fla+6b—-a)b-a), 0<6<1:

§13. Lnwhwnwih Yuwbnbp: B nph pwOwdélp
pwqiwOnwibtph L $nibyghwbbph hwdwp:
Uh pwOh $nibyghwbtph Uwynptah pwowdlp:

% bpynt $nibghwabph hwpwpt-
X

ClUnncbGbp, np
pnigintbp, Gpp x—a, {%} inGuph  wOnpnanigntlb E,
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wyuhbpb Zim f(x) =0, ltimg(x)=0: Pwgh {%} nhwh win-

AnNLINLGGERhg Yt Ll {0()},{0-00},{1“}{00—00},{2} nhuh
wbnpnnipynibltn:

[BGinpGa1 (Lnwhunwy). GUpwnptlp lim f(x) =0,
limg(x)=0 L g'(x)=0: Un nbwpnty, tpt gnjnipyntt nih

yGpowynp Ywad wbytkpg lim f,((x)) uwhdwlp, www wnknh

g (X

nlap’

lim J) _ Vim f" (%)

e g(x) e g (x)
hwywuwpnipntbp:

Donnibbiny fla)=g(@)=0, f(x) L g(x)Pnibyghwltnp

Y hGE0 wbpbnhwwn Gwb x=a YGwnd: BEnpGdnd GpJwé
(a~8;a+8) 2ngwlwiphg Utinglttp {x,} hwenpnwywnte-
JnLl0 wybwtu, np fimx =a:

<wiwdw)b YUnpnt pbEnpbup’
fx) _ fx)=fa) _ f ()
gx,)  glx)-g@ g,

Gnpp n — oo, wyw x, > a huy c,-p gnbytbiny x,-h L
a-h dpol, Gnybwbu dguinud £ a-h: Ujnwu Ynndhg hwyuinbh
t, np (1) hwdwuwpnigywb we dwup ntbh uwhdwb, hGnlw-

pwp, uwhdwO ynibGow Owb (1)-h dwfu dwup L Gpwbp Yip-
060 hpwp hwywuwin:

, (a<c,<x,)): (1)
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Ahunnnnipinitl 1. /4im S
X—a g(x)

nlbGOwy, dpbgnbr  woéwlguwilEph  hwpwpbpnigwh
uwhdwbp’ ﬁsz()

xX—a g

Ahunnnnipintl 2. Gpt f(x) L g(x) Pnlyghwlbpp
pwywpwpnid G0 Lnyhunwih pGnpbGdh wjt wwydwbbGnh,
nnnOg pwywpwnnid 60 4x) L g(x) $nibyghwbpp, www

Eim_f()_z f() — lim S (),
X—a g(x) xX—a g (x) X—a g (x)

uwhdwbp wpnn £ gnynigncl

Ywpnn t gnynigynib sniOGOGw:

3

OphGuwy. hwiadby £im SINX =X hdwdp:
x> X
lim f(x)=/Limg(x)=0:

Eimsinx—x :g.mcosx—l e —sin x :_l:
x—0 x3 x—0 3)(72 =0  O6x 6
Nhunnnnipinib 3. Lnwhwnwih YuwbnGp aGnud £ nudh dbo,
Gpp x — oo
Ahunnnnipinib 4. Lnwyhwnwih Ywbnbp wnbnh nibh Owb
wyl nbwpnd, GG lim £ (x) = lim g (x) = oo

Ujdd unwlbwbp dwpbtiwwnhywywbt wlwihgh Ywpln-
pwagnyl pwlwdlbphg dtyp B nph pwlwélp, npp (wjh
UhpwrenipintGOGn nibh ng dhw)b dwpGiwwnhywynty:

Lwfu Oywwnblp, np Gt nlGbp 7pn wunhswbh
pwqiwlnwd P, (x)=a, x"+a,  -x"" +..+a, -x+a,, Wyw

(k)
Gpw gnpéwyhgbtpp npnpynud GO a _5 (0)

pwlwadlny: Hddwn st GYuwunbl, np’
Pn(k)(x)zk!ak+(k+1)k~~261k+1 x4tn-(n=1)---(n—k+1)-x"*

(k=0:L...;n)
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Uunwgwdé hwdwuwnnipjulb dto wnbnwnptind x=0,
Yuuinwbwbp *
PY(0) = kla,,

P,"(0)

hGunLwpwn, a, = T

k=01;---;n:

<Lbwnlwlp 1. P,(x) pwqdwGnwdp Ywpbih b apt
’ 7| (”)
Pn('x): Pn(0)+ Pﬂ(o)x+ Pn(O).xz +...+P"—(O).
1! 2! n!
bwnbwlp 2. Gpb P (x)=a (x-x,)" +a,_ (x—x,)" +
+oota (x—x,) +a,, www wjb Ywnbih £ gnty’

’ (n)
P (x): P (xo)+W(x_xo)+“'+[)n—$x())(x_xo)n
! n:

x" winbupny:

n n

inGupny:
Zewnlwlp 3. bpt f(x) $nilyghwt x, Ytwnud nilh
pOnhnww 0hGsk 7-pn Yungh wéwbgjw, wuwjw

()= oo LU L) )

! 2! !
puqiwbnuih hwiwp 2% (x,)= £“(x,), (k=01:2;:n):

n

(x—x,) ++

(x_xo)

P,(x)-p Ungynid £ Ax) dnibyghwyh BGjnph puwig-
dwlnuwaq:

Gprt Ax)-pn 7hb sgbpwqubgnn pwqiwlnwd sk, www
(AX¥)-PAx)  wwppGpnipnilp  Gawlwybing  7(x)-ny
f(x)=P,(x)=r,(x), nlklp, np 7(x)-p Gnylwpwn qnnjhg
tnwnppetp $nibyghw t L yntbGhwbp’
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f(o)

(x—x0)2+...+

Fx)=f(x)+——

(n)
+f—('xO)(x—x0)" +r(x) : (2)
n!

(x=x)+

I7(x%)
21

(2) pwOwdlp Yngynid t BEynph pwlwdl, huy 7Ax)-p
Gwgnpnwiht  wlnwd:  Unwgwd  pwlwdlp  (wyl
Unpwenipntl ntbh wyb nGwpenty, Gpp x=0,

(n)
f(x)= f(0)+f(0) f2(0) x4+ +f—‘(0)x"+r(x) (3):

n!

(3) pwlwadlp ungL{nuj E Uwynptuh pwbwdl:
CUn npnud (2) pwlwdlnid 7(x)-p Lwgpwbdh wuntGupny
£ ()
(n+1)!
d 2n2wyuwyphlt wwnbwbnn Yyt t:

Rtptbp 0h  pwbh  wwppwywb  $nibyghwlbbph
y&pinwénipynibp Ywynptth pwbwdlny.

hGunlw) b £ 7 (x) = (x—x,)"", npinbn ¢0 x, Ybwh

2 n c

X X X e
le"=1+=+—+-+—+— 0. x""
o2 nl o (n+1)

5 +1 :
X x o X (=) sine 0,

+ +
315! ) 2n+1) (2n+3)

X (_ l)n ) X " (_1 ntl COSc ) x2n+2
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4(1+x)p_1+px+l?(192‘—1) [ +P(P 1)"'(19 n+1) oy
n.
y PO (p=n) et
(n+1)
2 3 1\l 1\
5. ln(l+x):x—x_+x__...+&,xn+ ( 1) _ e
23 n (n+1)-(1+c)""

§ 14 DdniGyghwih dnGnunnGnupjw b wwydwbp:
Epuinptidnuip gnynugjwl wihpwdtn L pwdwpwp
wuwjdwaaknp:

Utn Owwuwwyl t wnpdwéd dhowywpnid wdéwbgtkih
$nibyghwih wéwbguih Gowbh oglnipjwip hGunwgnunb)
Opw AnGnunnOnLpjw b hwpgp wyn dhowyw)pnty:

Btnpti1. Nhgnip  f(x)-p  [a.b] hwndwsh  Ypw
woplnhwwn £t L (a,b) hOGnbpduinid wéwlgbih £, wyn
nGwpnid’

1. Gpt f(x) Pnibyghwb [a,6] hwunwénid dnGninnG

w&nn t, uJu4uJ f(x)20, Vxe (a;b) Yaunnia:

2. bpt f(x)-p [a.b]-nd dnGnunG Gwgnn £, www
f(x)<0, Vxe (a;b):
Uwwanig: “hgnip  f(x)-p [a,b]-nd wénn b [a,b]

hwuwunydwdéh GEpuncd L{bngubup nnhl: x Yeuin L Gpwl nwbp
wjbwhuh Ax w&, np x+Axe (a,b): Un nbGwpntly, Geb
Ax>0, wyw x+Ax>x L, hGinbwpwn f(x+Ax)> f(x):
Gpt Ax<0, wwyw f(x+Ax)< f(x): Mwpgq t, np Gpynt
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nGwpntd k| %:f(x+ix)3—f(x)>0’ xe[a;b]: Ubglbiny

o Ny e Ad)-f(x) L _
uwhdwah, YnlOGOwbp EE})E:EET:HX)ZO'
[@BtnpGap gjntu dwup wwwgnigynid £ &hpwn Gnyb duny:

BLnpby 2. Gpb y= f(x) dniGyghwh [a,b] hwndwénid
wOpOnhwwn £, huy (a;b)-nid wéwbgbh, www bpb (a;b)
hawnbpywih gwiywgws Yewnnid £(x) >0 (£(x)<0), wuww
£(x) pnibyghwa [a,b]-nid wann t(GYwqgnn b):

Uwwgnig. “hgnip  (a;6)-nd £’ (x)>0: dbpglklp
Vx,,x, € (a;b), pln npnud x, >x, L gnyg wwlp, np
fle)> f(x), npwind  huy  Ywwwgnigblp, np - f(x)
$nLyghwa [a,b]-ntd wénn t:

Pwoh np [x.x,] hwwndwsh ypw f(x) dnibyghw
pwwpwpnud £ Lwgpwbdh pbnpbdh wywydwbbEnhb, niuwnp
Uhpwrtiny wyn pEnptdp, ynibGhwbp

F) =)= f()x, = x), c€ (x,x,):

Cuwn wwydwah, £(c)>0, x,—x, >0= f(x,)- f(x,)>0,
wyuhpa f(x,)> f(x,):

[Btnptd 3. (tpuwnnptiniih  gnjnigywlb  wbhpwdtun
wwjiwabp): Bpt Jy=4x) PpnlGyghwl npnpqwd nplf
dhowywypnid, wjn  dhowlwiph hbs np YGund nuGp
EpunnpGintd(wpuphdnud Ywd dhOGphdnd) L wyn YGwnnid
wéwagbh b, www £ (x,)=0:

Uwwagntlg. Stu dbpdwyh ptinptap:

Ahunnnnipinib. SYjwy Ysunnwd pnbyghwih wéwbgyuwih
gnn nwrlwip wn yGund  pnbyghwih  Epunnptinidh
gnniwl  hwdwnp wOhpwdtn £, puwg nsy pwydwpwp
wwjwiwb: Oppbwy  f(x)=x $nbyghwh wéwlbguwip
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x, =0 yGunnud hwdwuwp £ qpnh, pwg wn YGwnp
dnibyghwih Lunptdnidh yeuwn st:
W0 yGuwintpp, npuinbn $nibyghwih wéwbgyuip hwywuwn
t apnjh, Yngdnid GO wyn Inibyghwih unnwghnbwn Ybwnbn:
Pwgwrwdé s60 wjlwhuh nGwptn, Gpp $nibyghw
tpuinpbdntdh Yeinbpnud wéwbgywy sniah: OphGwy Ax)=|x]

dnibyghwbt x, =0 YGund wdwlguwy sntbh (0GGp nw
wpnkl gnyg GGp wyby), pwg x, =0 Ytwp Pnibyghwh
dhGhdnudp Yybun t:
Uuwhuny, dnibyghwih tpunptinidh Ytuinbpp wtuinp
thtwnptp unwghnGwp yGntpnud L wyb yGunGpnid, npuntin
$nibyghwb wéwbgwy snibh: Wnwhuh Yeuintpp Yynsynid GG
dnibyghwyh Unhwhuwl  Yewbp:  Uphnhywywl
YGuintpnud  Lpunpbdnudh gnnupyubt hwpgp wwpgynid
hGunlw| ptnptdh oqlniLpjwdp:
[BGinpLd 4. (Epunptinidh gnynigjwl wrwehl pwywnwn
wuwyiwa) bpt £(x) $nibyghwl wéwhgkih b x, Ytwh
§ -angwlwipnid L x,-0 f(x)-h Ynhwhlwywd Yo t,
www
1. bRt f(x,)=0, huy f(x)>0, tnp xe(x,~ ;x,) L
f'x)<0, Gpp  xe(x;x,+6), www  x,-0
dwpuhdnwdp Yytun k,

2. 6pbf(x,)=0, huy f’(x)<0, Gpp Xe(Xo—é ;XO) b
f'(x)>0, &pp xe(x;x,+d), www x,-0 dhGhdinwih
ytuw t,

3. 6pt f'(x)-p 6 -powlwypnid niGh  hwunwnnil

bwl, www x,-0 [ punptinidh Yeun sk:

Uwwgnig.
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1) Cuwnn Lwgpwbdh pwlwdlh nbGGp
£x)=£(x,)=£(c)x - x,) (1)
npntbn c-0 pbywsé £ xh L x,-h dhol: Yhuwnpytbp Gpyne

nGwp.

w) x<x,2>x—x,<0, x<c<x,, pun wwiwdp’
fle)>0,

p) x>x,=>x-x,>0, x,<c<x, pun wwjdwbp’
flc)<o0:

Gpynt nbwpnid £y (1)-hg htwnunud £, np £(x)- £(x,) <0
ywd f(x)< f(x,) Vxe (Xo—é 3 X, +0 )-h hwdwn, huy nw
GpwlOwynwd t, np x,-0 dwpupdnudh YGw t: Gnyb duny
Ywuwwgnigyh p) nbwpp:

4. Nhgnip  f(x)p  x, Ytwh 5 -2powlwypnid
wwhwwnd § hwunwwnndd  Gpwb, wubbp ophOwy
f/(x)>0= f(c)>0. Un ntwpntd (1)-hg htnbnid t, np bpp
x<x,, wwyw f(x)-rf(x,)<0, huy bGpp x>x,, wwuw
f(x)= f(x,)>0: Wuhbpl' x, Ytwh 6 -2powluwypntd Y
xh wpdbplbn, npnOg nbwpnd  £(x)> f(x,) L Ywh xh
wndtipltin, npnlg  ntwpnd  f(x)< f(x,), npwtinhg
hGwnlnid £, np x, -0 Epunptdnidh e k:

@tnptd 5. (Epuwnptinudh gyt Gpypnpn
pwywpwp  wwdwlp)  Gpt  £(x)  Pmlhghwl  x,

unwghnbwp Ytwnnud nbh Gpypnpn Ywpgh wéwbOgyuwiy,
www f"(x,)>0 nbwpnid x,-0 GhOhdnush Yewn k, huy
f"(x,)< 0 nGwpnid x,-0 Gwpuhdnudh Y& t:

Uwuwgntjg. Pwbh np x,-0 unwghnbwn yGwn k£, niunp
f(x,)=0: Upnw ynnohg, tet f"(x,)>0, www £(x)

pnilyghwl x, Ytwnh & -2pewlwipnid, 20nphhy  #'(x)-h
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wiOpbnhwwnnigjwb, wénn £ Upnw Ynndhg, pwlOh np
(x,)=0, www (x, —8&;x,)-ntd f’(x)<0, huy

(x,;x,+0 )-nud £/(x)>0, htiinbwpwp pun kpuinpbdnish
gnnipwl  wewohl  pwywpwn  wuwywlh  x,-0  Yihth
Shahanush Yew:

§15. dnibyghwyh akdwagniya L thnppwgnt)l
wndtipbtpp:
Nienighynipjwb L gnquiynpnipjw b wwydwbGtpp
wdéwbgjwih shongny, 2n9dwb Ytwntn:

Glpwnptlp  y=f(x) $nlyghwl woOplnhwwn
[a;b]hwuindwénid: Ui nbwpntd $niblyghwt plnnibnud £ hp
dGowagnylt L thnppwgnyl wnpdtpbbpp wyn hwwnywdéniy:
bpt wjn wpdbplbpp Gw pOannionud ko [a;6] hwwndwéh
OGpunty, www npwbp Yhott pnibyghwih kpunptdnidp
Ytuntpp: Pwg wpnn b Gwl wyn wpdtpbtpp Gw pOGnniObg
[a:p] hwinqwéh swypwybunbpnud: Apkap ophGwy (96.1):

y A
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Qéwagphg hGyuin L OYwwb, np x4 L x Ybwbpp
hwOnhuwGnid 60y = £(x) $nLlyghwih hwiwwwwnwufuw-
Gwpwp dwpuhdnidh L dhOhdnwdh Yk, sGwjwdé dnily-
ghw( hp wdtlwhnpn wndbpb pbnnibnud £ x=a, huy wit-
Gwuké wpdtpp x=6 Yanbpnud: Uuwdhg pluncd | hGunlywy
YwlnOp: Npwtugh gunbb, $nibyghwh wiklwdbs L wak-
Gwihnpp wpdtpltpp, wihpwdbwn k.

1) Qunlb] [a;6] hwundwénid $nibyghwih Epunnpbint-
ah Yyauntpp,

2) <wpybp nibyghwih wndtiplbtpp dwypwybunbpniy,
wyuhbpl £(a)-0 L £(6)-0,

3) Uwnwgwé pninp wpdtpltphg aGéwagnybp Yyhbh
dnibyghwih wiklwiks, huy hnppwanyGp Yhbh
watbwdthnpp wpdtpltpp:

OphOwy. Qunlb] y=x-3x+3 $nibyghwh wiklOwadtbs
L wikGwithnpp wndtpltpp [-3:1,5] hwnywénid:

Lnisnud: <wipyblp y'=3x>-3=0=x=*1, wwuw
v’/ _, =6>0htnkwpwn x=1 YhGth dhGhdndh Yeuw,
¥/ =1:

Wonthbinle  y”/_, =-6>0, nwwnh x=-1-p Yhbh
dwpuhdntdph  Ybuw, y/ _, =5 <Lwpdblp dnibyghwih
wndbplbpp  [-315] hwwndwéh  dwypwybnbpnid
Vy=-15.  ¥ios=o:  Uuwhuny  nhiwnlynn
pnbyghwh  wdkbwikd wndbpp Yhth y/,_, =5, huy
wdtlwthnpp wndtipp y/ _ , =-15:

gnip  y=f(x) Pnlyghwh  wowhghh  (a;b)
hGuinGpquinid: Wn nbwpenid dniblyghwih gpwdhyl hp
gwlOywgwd YGwnnd nibh 2nwihnn, npp gniqwhte st OY
wrwbgph(:

51



Uwhiwond 1. y=f(x) $nbyghwb ynsynid t (a;b)

hGuinbpdwinid nienighy (gnquynn), et win hGunGpgwintd
Gw pOyws £ hp gwllwugwd znwihnnhg GGppl (Yenl)
(96.2, g6.3):

qnquiynp

/

0 u by 0 4 b

>~V

qo. 2 go. 3

Btnpkd 1. Nhgnip  y=f(x) $nyghwl  [a;5]
hGwntnywintd niGh Gpypnpn Ywnpgh ytpgwynp wéwbgyuy:
bt [a;6] hounbpdwih gwlywgwd Yewnnid £7(x) <0, www
dnilblyghwih gpwdhyp wn hanGpduind nienighy £, huy
bRt £7(x,) >0, anquynn t:

Uwwgnig. Ybpgltlp (a;6) hGnbpdwinid Yudwjwywl
x=x, Yt L wwlblp wn YytGwhg Ynphl 2nwdhnn:
@BtnnpGdp Yhwdwptlp wwwgnigwé, Gpb dtlp gnuyg
wnwlp, np (a:b) dhowlwyph wdpnng YnphG wwnyuwilnn
yGwtpp Yainlytl wyn 2nwihnnhg GGnpl:

GOpwnptlp Ynph hwywuwnpnidt £ y=£(x), huy wn
Ynphb x =x, YtGunhg wnwpwdéd nwhnnh hwjwuwpniab k
y=1f(x,)+f(x,)x-x,): Wu bpynt  hwdwuwpniiGno
hnwnhg hwbinig htwnn YniGGGwbp

y=y=fx)= )= fle)x-x):

Uhpwrtiny Lwgpwbdh pbnptdp, Yunwbwp.

y=y=flefar—x) =l N —x,),
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(npwnbn ¢0 pbywé t x-h L xo-h dholy), Yud
y=y=(fle)= 1 leNx—2x):

JYbpoht wpunwhwjnnigjwl GYwwnidwdp d6Y waqud Lu
Ynpwrtiny Lwgpwbdh ptnptap, YnitbGhwbp

y_y:f”(cl)(c_xo)(x_xo)’
npuntin ¢-p pOYwé £ xo-h L c-h dhole:

Ahwnwpytbp uygpnid x>x, nbwpp: Wn nbwpntd
X, <c¢;, <c<x, pwbh np x-x,>0, c—x,>0 L pwlh nn
pun  wwiwGh  f7e)<0,  www  Jbtpghl
hwywuwpnipntbhg heinbntd £, np y—y <0

Wdd nhunwnpytbp x<x, nbwpp: Un nGwpnid
x<c<e¢<xy, b ox—x,<0, c—x,<0, huy pwlh np
f(e,)<0, wwyw YnibGwlp y—y<0:

Wuwhuny, d60p wwuwgnigtghlp, np Ynph gwlywgwoé
Ysun pbywé t wyn Ynpht gwlywgwd YbGunhg wnwnpwé
2nawithnnhg GGppl, huy nw  Owbwynid £, np Ynpp
nienighy k: BGinpedlo wwwgnigywé t:

Ahawn Gnyb Yyspw uwwgnigyh hbinlyw) pEnptanp:

Btnptd 2. Gpbt (a;6) hGwnGpdwih pninp Yeuinbpned
£7(x)>0, www Ynnb wyn htinbpgwntd gnguydnn k:

UwhiwOnd. WG yGwp, npp pwdwlnd £ Ynpp
nienighynigwlb dhowlwypp gnquynpnipntbhg Yngynid f
2noudwlb ytuwn:

Uu uvwhdwlniihg hGwnbnd £, np 2pedwlb  Ytuinhg
tnnwnywé 2nwhnnp, Gt wit gnnipntd niGh, hwwnnd
Unpp, pwlh np wyn Y&inhg tnwpywé 2nawithnnp dh Ynndhg
gqunGynid £ Ynphg Gbppl, dniu Ynndhg Ynphg yenl:

Ujdd G260p pwdwpwp wwpdwbbbp, Gpp tnpwéd Yybunp
YhwbnhuwbOw Ynph hwdwp 2n9dwb Yeun:

Btnptd 3. Ghpwnntlp y= f(x) $nibyghwl wjbwhuhl
t, np £7(x,)=0, Ywd gnnignia snibh, pwg x, Ytwnhg

53



woglbthu £7(x)-p thnfuntd £ hp Gwlp, www x, Ybup
Yhwlnhuwbw 2p9dwb YGwn:

Uwwgnyg: bGoOpwnptlp  f7(x)<0, bGpp x<x, L
f(x)>0,6pp x> x, :

LGwnlwpwp, x<x, nGwpentd Ynpp Yhth nienighy, huy
x> x, nGwpntd’ gnquynn:

Unylb hGunbnigjwlp Ygwlbp hwywewly Ghpwnpnipjwl
nGwpnty:

§16. Uuhdwunninbtn, nibyghwjh gpwdhyh
Ywrnigiw(

panhwlnip upuGdwa

Gwuwn hwiwlu hwpy t |honud hinwgnut] y = £(x) Ynpp
dup L, htwnlwpwn, Gpw thnhnfudbine pbnipwahpp, Gpp
Unph thnhnfuwuwl  Yswnh  wpughup  Ywd  opnhlwunp
wlOuwhdwOwhwy wanid 60 (pwgwpdwy vEoNLRJWUR):

Un nbwpnd  Ywplbnp  dwubwynpn nbwp L
hwOnhuwlnud, Gpp dhnthnjuwywl Yswp qunbdtind Ynpp
dpw L hGewlOwiny wGdGponignil, wluwhdwbnpth
dnuntlnid £ hGg-np ninnh:

Uwhiwlnd. A ninpnp wadwGsop  y=f(x) Ynph

wuhdwwinun, et £(x) Ynpho wwunwonn thnthnfuwyw
MyGunh L wn A ninnh 6 hGrwynpnipyntbp dgunnid £ gnnyp,
Gpp Mp dgunnud | wlytponipjwl (6. 4, g6. 5):
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y=r(x)

MG y) S
AR
wuhdunnn

» »

0 X 0 X

wuhdwwnnun

qo. 4 q6.5

Uuhdwunnunbtpp |hGnd GO ninnwaghé (gnigwhtr oy
wrwbgphl) L ptp:

Uuhdwyunnunnh  uwhdwbnidhg  hGwnbnid £, np  Gpb
lim f(x)=oo, Y Xlignof(x):w, Ywd !(iir;f(x):oo, www x=a

x—a+0

ninhnp Y hth wupdwwnnu: Shpin [ Owlk hwywrewy
wlnnwip: Wuwhuny, npwbugh thbunptbp ninnuhwjwg
wuhdwwnunlbpp, wOhpwdtun £t gunlb] wjlwhuh x=a
wndbplbn, npnbg dqubihu y= f(x) $niblyghwl Yagunh
wbyGnontpjw:

OphGw\. y:i5 Unpp ntbh x=5  ninnwghé

X_

wuhdwuwnnup, pwOh np, Gpp x 5 5=y — toeo:
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Wdy, Gopwnptlp y=7(x) $nibyghwl nibh y=kx+b
inGupp: Cuwnn pbp wuhdwwnnunh uwhdwbGdwb winbnh nibh
hGunlyw| hwywuwnpnipnibp

gn[f(x)—kx—b]:o: (1)

Cunn  uwhdwbbGph  wnbGunigywlb  hphdbwywb |Eadwih

nlaGGap
f(x)=kx+b+a(x), (a(x)=>0=c »ipx—w):

Btnpkd 1. Gpb y=kx+b ninhnp y =£(x) $nibyghwih
pGp  wuphdwywnnun t, www ppwywgh GO  hGunlywg
pwbwadltpp.

k:hm@, b :)l(i_{g[f(x)—kx] : (2)

X—oo X

bpnp, pwh np f(x)=kx+b+a(x), ntuinh
tim L %) _ i [k+b+“( )j—k:

X—oo X X—>o0 X X
Ubwing tnwlwyny Yuunnwbwbp
lim[f (x)-kx]=lim[b+a(x)]=b:

BEnptY 2. 5pb gninipynLlt niltl (2) uwhdwbbbpp, www
y=kx+b ninpnp y = £(x) $niayghwjh wuhdwwnnun t:
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bpnp, (2) bhwdwuwnpnipntbbtphg hGwnbnd £, np
lim[f (x)-kx —b]=0, huy nw wwwgnigntd k dtp wlnnudp:

Uwulwynpwwtu 4=0 nbtwpnid wuhdwunup Yhoh
gnigwhtr  OX wrwlgphl:  Unwhuh  wuhdwunup
pinniojwdé £ wOdwlb, hnphgnOwlwb  wuhdwunnun:

Ophbwy y:i2 dnibyghwh  hwdiwp OX  wrwlgpp
X
hnphgnbwywb wuhdwywnnun k, Gpp X — o :

S
b 4

h dp ptpGind YGpp 2wpwnpjwép dtbp hwbgnid Gop
dnibyghwih  gpwdhyh  hGunwgnundwlb L Yurenigdwl
hGunlwy ufuGdwyha.

1. Npnat dnibyghwih npn2dwl X)) wnhpnyep L wp-

dtiplbnh £()) wnhpnype,

2. Mwnpqgb] $nibyghwh wywppGpwywlnignibp, qniy-

gnipyntOp Ywad yGhwnniegnbp,

3. Npnt gpwdhyh hwwndwb Ytuintpp Ynnpnhlbwwnw-

Ywl wrwbgpbbnh hbw,

4. QunlObp $nibyghwih wuhdwunnunlbbipp, Geb wnwh-

uhp gnntpynth nLbGG,

5. NpnytG dnibGyghwyh dnGnunnbnigjwlb dhowywptnp L

t puunptinidp Yewnbpp,
6. Npn2G dnbyghwyh nienighynigwlb L gnquiynnpnip-
Jwl ahowuwjptinp,
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7. Mwpgby nibyghwh Junpep, Gpp x — e,
8. Lwrnigb| dnibyghwih gpwdhyp:



Qintju 2. UGnpn hGunGgpuwy
§1. Lwubwywb Pnbyghw L wlnpny hGwnkgpu

Ut pdny gnpdtwywb fubnhpbtph (niédwb hwdwnp
wlhpwdtywn t |hGnid ng pE tnpqwdé dnibyghwih dhongny
gnlt] wowlgwip, wy hwywrwyp wpwd wdwbgwyh
dhongny 4JLGpwlwbqglt npnOGh $nibyghwb: Ophbwy
v=S() opthpnd  npnpynid £ wyOpwppwihG
wnwgntgintp, npuibn S()-0 ¢ dwiwbwlwihongntd
dwnpilh wOgwé Awbwwwphh £ dhghywynd  hwidwfu
hwOnhwntd £ hwiwnwnpd fuGnhpp, wuhGpt npnatp S(¢)
fwOwwwnhp, Gpp wpdwé b OGpw wéwOgwip V()
wpwgntntp:

Uwhiwond 1. F(x)$nibyghwa Ynsynid £ y= f(x)
dnibyghwih  Gwpubwywb, nplt X whpnypnid, GpRb
Vxe X,F'(x)= f(x):

Pwlh np wpywdé yYbwnnd wéwbguw nibbgnn
dnbyghwbt wOplbnhwwnn £t wyn yGunnud, nipbdb Ax)-h
Owfubwywh F(x) $nibyghwl whplnhwwn £ X wnhpnypend:

OphGwy. F(x)=x> $nibyghwph Gwhubwlywbp nno

pUwhG wewlgph Ypw YihGh' F<x>=% $nLyghwd,

’

4
pwlh np (%j =x" Jwd Ax)=sin5x, www F(x)=—%c055x:

<Gt hwongyby, np bt F(x)-p f(x)-h
Owfubwywa £, www F(x)+c¢ Lu Yhoh £(x)-h wubwywa,
pwlh np (F(x)+c)'=F'(x) = f(x):

<G b Oywuwntl, np £(x)-h pninp GwfuGywGOGpp
dhdjwbghg tnwpptpynid GO Yuwdwywywl c
hwutnwwunnilny:
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W Yspw wuws  f(x)-h pninp GuiuGwywbospp
Ywntih £ antl F(x)+c inbupny:

Uwhiwond 2. f(x)-h  pninp GwhubwywGGeph
hwiwfuniipp - Yngdnud £ f(x)  $nibyghwh  wanpny
hGuntgpw; L gpynud L hGnlyw| updyniny If(x)dx:
Wuwhuny, uwhdwbGdwb hwdwdwyh.

j F(x)dx=F(x)+c e F'(x)= f(x):

Ubnpny hOGwnbGgpwih  wbGdhowywb uwhdwbnidhg
hGunlnid G0 hGunlw| hwwnynipyntbbtnn:
1. Ulnpn hOwnbgpwih  wéwOgwip  hwdwuwn L

pOnhbwGgnwy pnibiyghuypt.
([ rwdx) = r:

hanp, ([ f(0dx) = (F+0) = F0 = f(0):
1. Ubnpn hbownbgpwih nhdtptbghwip hwywuwp
pGnhbwnbgpw wpunwhwjuinnipjwp.
d(jf(x)dx)zf(x)dx: bpnp, GYwuwnh nlbGOGwiny, np
dg(x)= g’(x)dx L wrweoh hwuwnynipjntbp,
ynibGhwbp

d([ reoax)=(] Fodx) dr = F oy

2. dniliygwih  nhdbiptbghwih  wlnpnz  hGnbgpwip
hwdwuwp t wn  dInbyghwh L Yuwdwywyh
hwuunwuwunniGh gnidwphG.

[df )= f)+e:
hnnp, [df (0= [ f'(xdx=f)+e:

60



3. <wuwnwwinnil  wpunwnphsp YwpGih £t nnipu pbptg
hGunGgpwih Gawlh tnwyhg.
jK.f(x)dszjf(x)dx:

hpnp, wdéwlgbiny hwywuwpnigjwb w9 Yynndp,
YuuinwinOwhGp.

(k[ roodx) =k ([ Feodx)= K - £
Pwlh np unwgybg hwywuwpnigwb dwfu Ynndh
pOUnhOwntgpwy $nibyghwl AL x), hbinLwpwp 3.-p &hpwn t:
4. Ddnibyghwbbph gnidwnph wanpn? hGunGgpwip
hwdwuwn t wyn dnLbyghwbbpp walnpn
hGuntgpw0Eph gndwnn(.

[lr+f0kx = [ f£,Godx+] £, (x)dx:

Wu hwwnynipintblb wwwgnigynid £ &haun Gnyb Yepw
hGswbu 3.-p:  Ogunybiny wdéwlgiwlh  pwlwdlbphg,
Ywquitlp wlnpn? hGunGgpwitbph hwydwl hphdbwywb
wryntuwyn:
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a+l

lj “gr=""_ 4

oa+1

2.j sin xdx = —cosx+c¢

3.J-cos xdx=sinx+c

dx
4, =tgx+c
J-cosz X

dx
5. =—ctgx+c
J‘sinzx 8

X

6j de= 4

Ina
6'.J-exdx =e' +c

7J-d—; = 1n|x| +c

dx
8. =arctgx+c
J’1+xz 8

9J- =—arctg e
a’+x* a
lO.J.\/_zzarcsinx+c
11.[ ——arcs1nx+c
12.[— dx =i1n "My
a’*—x* 2a l|la+x

13. P+Vx +a?
IVx +a?

+c:



§2. Onthnfuwywbh thnfjuwph0dwb dGennp,
dwutpny hGwntgpnid

BGnpGAd 1. Yhgnip Ax) dnibyghwl, xe (a;b)-nd nLbh
AX) OGwplbwywop, huy x=e@) dInibyghwb npnpwé t L
noh JGpowynp wowbgwy te (a;B) dhowlwjpniy, pln
npnud (a;b)-0 @(r) Inibyghwih wnpdtplbph pwagunipynil k:
Ujn nGwpntd

[ Foune md = Fp@) +c:

Uwuwignug. 8nig tnwlp, np F'(e0) -0 f(p(1)¢' (1)
dnibyghwh Gwhubwywb £: Ogunyting pwpn $nLlyghuwh
wéwlgiwlb Ywlnbhg L FX)=Ax) hwdwuwpnipnibhg
YntbGGwGp.

(F (@)= F'(9@)-¢'(1) = f(p(1))-¢'(1):

LUpG0p 0h pwlOh dwubwynp nbwptp, npnGp nlGGhO
066 Yyhpwrenigintbbtn hwayniibtph dwiwlwy:

1, bpbjf(x)dsz(x)+c,wu4w

J-f(ax+b)dx=lF(ax+b)+c:
a

j f'(x)dx

09 =In|f ()| +c, (f(x)20):

Ahunwpytlbp oh pwbh ophGwybtp.

arctgx =t 2 1

x2 _ =It2dt:?+czg(arctgx)3 +c:
1+x

ln(lnx) =t

J- (arctgx) dx
1+x*

2

Itdt—?+c ——(ln(lnx)) te:

o .[ ln(lnx)dx
xInx

xlnx
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BtnpGd 2. Bt ux) L Ux) IniGyghwlbpp (a;6)
dhowywypnid niO60 wOpbnhwwn wéwbgubtp L UX) ¢ (Xx)-n
ntoh Gwfubwywl, wwyw Gwpubwywb ynibGhw Owbl vV (x) U x)
$nbyghwb L wryw k htinlyw) pwlwélp.

J-u(x)v'(x)dx =u(x)v(x)— .[v(x) u'(x)dx :

Ogunytiny wnpunwnpwih nhdtipblgiwl pwlwdélhg,
Yuuinwlwbp
d(u(x)-v(x)) =u(x)dv(x) +v(x)du(x),

npnbnhg u(x)dv(x) =du(x)v(x))—v(x)du(x):
Wu hwjwuwniwb we L dwiu Ynnutpp hbwnbgptiny
Yuuinwbwbp
[ u()dv(x) = @ov(0) = [ v(x)du(x)

J. udv=uv—J. vdu :

Wu pwlwdlbp Yynsgynd t dwubpnd hbownbgpiw
pwlOwdl:

Ophbwy3. <wyyb)
arctgx =u,dx =dv
_[ arctgxdx = 4 dx ’
1+ x?

g

u=

1
:xarctgx—jx al zxarctgx—aln(l+x2)+c:

1+ x?

OphGwy 4. <wyyb]

X =u,cosxdx =dv

Ixcosxdxz =xsinx—jsinxzxsinx+cosx+c:

dx=du,v=sinx

§3. NwghnOwy| $nLbyghwbtiph hGunbgpnuip
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P(x)
O(x)
dnbyghwb (npunbn  P(x) pwqiwlnwdih wuwnh&wlp
wrGqwql dtyny thnpp b O(x) pwgqiwbnwih wunhswbhg)
OGpYwywgyned £
R(x)= A + 4 +....+ A +...+M+

x—a (x—a)’ (x—a) x>+ px+q
R M x+N,
T(x2+px+q)’"
wnbupny, npuntbn p> —4¢g<0:

Gpp rwghnOw|p Ynuinpwyp YwOnGwynnp sk, P(x)
pwqiwlnwih wunhfwlp 066 E Jud hwjwuwp  QO(x)
pwqiwbnwih wuinhdwihg, www Yuwpbih £ o6pyuwjwglb)

Lwynbh Lk, np R(x) = ywanGwdnp rwghnOwy

PO) _p (4 PO
() 0()

ntupny, npntn  A(x)-p pwqowlnwa £, huy P (x) -h
wuwnhswlp weadwqb deyny thnpp £ O(x)-h wunh&wbhg:

Uuwhuny, rwghnGw] dnibGyghwyh hbwnbgpdwlb hwpgp
hwGgnid | hGuinlywy snpu inhwh hGuinGgpw GGnh.

Adx Adx
1. : 2. k+1),
I xX—a I (x—a)k( )
3. [ N e, 4 | N gy
X"+ px+q (x"+ px+q)"

<wybtlp Opwbghg jnupwpwbsinupp.
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1..[ Adx :A1n|x—a|+c,
x—a

Z.I Adxk = A —+ek#l
(x—a) (k—D(x—a)

Lwlh np p*—4g<0: ntunh 2/ L 3/ mhwh

2
hGuinbgpw06pp hwybint hwdwp GEpdnuétlp a = q—pT

hwuuinwuwunnibp L yuunwbwbp ¢ = x+§ intbnwnpniap:

Lywunh nlbGbwiny

2

xz+px+q=(x+§)2+q—pT=1f2+a2
hwywuwpnipntlp, UUmewup
Mx+ N 2tdt _Mp dt
3. =2 _
J.)c+px+q J.t +a? ( 2 jjt3+a2

M 2N M
:7ln(t2+a2)+ arctg—+c=71n|x2+px+q +
a

2N - M, 2x+
+ parctg#

_— +c,

V4q-p \4q-p:

J Mx+ N 7"‘ 2tdt _@)J‘

o+ prtg)” t*+a (@ +a*)"’
(m<1):

Uunwgywé honbgpwilbphg  wrwohth  hwdwn
Yuuinwbwbp.
_I 2tdt 1
(> +a*)" 2 (1 m)(t* +a’)"
huy Gpypnpnh hwdwp Yuunwbwlp wlnpwnwna
pwlwadl.
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2t

P+a)" =u,dy=—dt
J=[ e _|EFe) E+ay |=
l-2+ 2 \m
#+a) v=x,dv=dx
- ! +2mI rd :
©+a) +a)™

Uo dwuntd gunbynn hbuintgpwih hGnn Yuunwlwbp
hGunlyw| dLwihnfuniynttbtpp.
2 2 2 _ 2
j 2td2t oo U "2'0 2a+?dt:‘lm_ 2‘]m+1'
" +a’)" @t +a )"
t
Wuwhuny® J, =——
juwhuny "t
npuntnhg (nLétiny J, -h Gywwndwdp L hnfuwphbbiny m—n
(m1)-ny, uunnwlOwbp

+2mJ, —2ma’J,.,,

t 2m—3
S = 2,2 NI 7 Vo
2(m—Da“ (" +a” )" 2(m—1a

§4. GrnwOynLOwswhwywb pnibyghwlbp
wwpnitowynn wpunwhwjwnnignbtph L wywpquagne
hrwghnUw] wpunwhwjwnngNLGbtph haGwnbgpnidp

Grt nlltlUp Asinx; cosx) inhwh $nbyghw, npuntin
Rx))-0 xh L y-h Gundwdp rwghnGwy dniblyghw £, www
O2dwé wpunwhwjnnipjwb hbnbgpwip wpunwhwjnynad

tnwnppwywb dnibyghwbbpp uhongny tztgg
intnwnpnidnyd L hwyh weltiny, nn
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1 tgzx

2 - A 12

Sinx: 2 = ! ’ COSx = 2:1 !
I+

X
1+1g°>—
&9

2dt

nioGOwiny, np x = 2arctgt,dx = =
1+1

Yuunwbwbp.

jR(sin X;Co8 X)dx = IR[

2t 1-t*) 2dt
; = | R, (t)dt,

1+12 1+t2j1+t2 JrR®
npuinbn R () -0 rwghnlwp  $nibyghw E, npb

wpwunwhwjnynid £ rnwppwywb $nibyghwbtpny §3:

Nhunwpytbp dh pwbh Yupbnp dwubwynp nbwptn:
1. _[R(sinx)cosxdx (IR(cosx)sinxdx ), npwntn R-0 hn
wpgnuitownh rwghnGwy $nibyghw k: Ywnwpbiny®
sinx =t = dt = cosdx thnthnfuwywOh thnfuwphbnidp,
Juuinwbwbp J-R(sin X) oS xdx = jR(t)dt :

2. j sin xdx (joosn xdv):

Glpwnntlp ~=24+1, Gpwlwytip
cosx =t = dt = —sin xdx,
YntbGGwGp.

jsin”‘+l dx = j(sinz x)* sin xdx = —j (1-t>)"dt:

Ogqundtindy  UnuinnGh  Gpywlnwdh  /phGndh/
pwlwdlhg unwgwsé hunbgpwip htaunnipjwdp Ywnbih t
hwyyti:

Grbt =24 www Yhpwrbiny
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o I+cos2x .,  1-cos2x

cos x—T,sm x—T wnpgh hotigawl

pwlwdlbpp L Yt ~6ph hwdwn Jepp Gpwdé dbpnnp,
htunnipjwip Yhwoybbp Gpwdéd hGuinbgpwGbpp:

3. Isin o cos Pxdx Isin o sin Pxdx , jcos ox cos Pxdx :

Uhpwrtiny®

sin ax - cos fx = %(sin(a + B)x +sin(a — B)x),
sin ax - sin fx = %(cos(a— B)x—cos(a+ B)x),

COS Ox - cos fx = %(COS(O(+ B)x+cos(a— B)x),

pwlwadltpp hGunnLpjwdp yhwyoytlp wju
hGuntgpwbGpp:
P D2 P

“Yhunwpytlbp IR(x,x’T‘,xqz, ..... x%)  hOwnbgpuwip,
PPy P
q, 4> qx
Ununnnpwylbtph plUnhwlnip  hwyunwpwpp: Wn  nbwpnid
Ywuwnwnbiny " = x,mt™" = dx Gwbwynidp, YyntbbGwabp.

Gopwnptbp  mp  hwlnhuwbniyd k

no P Pi

npwnbn  n, =ﬁ-m,n2 =&-m,...,nk =&-m, wapnn9
4q, q, 9k

pytn GO L, hGunlwpwp, hrwghnOw] wpuwhwjunnipwb
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hGuntgpnudp  pEpdnud | rwghnOw)  wpunwhwyunnipjwb
hGuntgpdwG:

OnhGwy. <wyyt|

:t6 8
J'sz =6 t—zdt=6.|.(t6—t4+t2—1+ lz)dtz
1+3x  |dx=6rds 1+1 1+1
7 5 3 6/ 17 6 5
=6 = -L+ Lt arcigt +c=6(\/x_—£+£—i/;+
7 5 3 7 5 3
+arctg§/;)+c:
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Qintju 3. Uh pwbh thnthnfuwywGGbpp
dnLGyghwalbp

§ 1. Uh pwGh thnthnjuwywbGtpp
$nLOyghwbbph uwhdwGnudp,
Epypwswhwywb ywunytpnidp,
uwhdwOp L woapGnhwuwnegynllp:

UhOsL hhdw dG0p niunidGwuppnud thGp a6y wGywiu
thnthnfuwywbhg  Jwpuqwé  pnbyghwbtn, wyuhbOpl
nhunwpyntd  thOop Gpynt dhnhnfuwywbbtph  hwdwuwnbn
thnihnfunegyinibp, npnGbghg aGyp Ywjudwd tEp gnwupg L
woywfu hnthnfuwywOh wnpdtpny |hndhG npnaynid Ep
Ywiujw| thnthnfuwywOh Ywd $nibyghwih wpdtipp: UwywyG
pOGntgywlb, hOswbu OGwlb  nbnbGuwghnwywb  wnwppbp
Gpunyplutph nuuntdbwuhpnipjwb dwiwbwy, pwgwrehy sGta
wjb nGwpbpp, Gpp nguw; Gpunyph nwuntdwuhpnienlbp
Ywuwé L ng pb 06Y, wy dh pwOh hnthnfuwywlGtpp
hwdwuwntin thnthnfunignibhg: (Wuhbpb a6y thnthnfuwywbp
y =f(x) pnibyghwl, hptbhg GEpYwywglnid £ nbyghnlbuwy
Ywudwénipjwl wwnpqwagnl onphbwy): Wuwhuh
Gpunyplttph  nuundbwuhpnepynibp wwhwbgntd Ep
wuwwpbiwgnpétp  dwptlwwnhywywl  wwwpwunp L
GGpdnwstp  dh  pwlh  thnhnfuwywbbGtGph  $nilbyghwyh
qunwhwpp:

Ophbwy.

1. x Gpywpnigintt Ly (wybnigntt nibbgnn
ninnwayntbbbph S=xy dwytptultpp
ywfujwé 60 Gpynt x Ly thnthnfuwywbOBphg, L
GEpyuwywgbnud GG Gpyne  thnhnfuwywbh
dniblyghwih wwnpquanib ophlwy:
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2. z=b,x,"x,” $nLlyghwa, nnp
inbwnbGuwghwnnipjwb dte hwynbh | npwtu Unp-
Anctgwuh $nLbyghw:

3. z=ax, +a,Xx,+..+a x, +b, npntn a,a,...a, b
hwuwnwwntd  pytp GO, Yngdnd Lt géwihl
dnibyghwi:

y=1f(x) d&Y thnihnfuwyulh Pnilyghwih nbupniy,
dnbyghwih qunwthwpp uwhdwlbihu, d60p nhwnwpyned
thp x-h  wjb  wpdbplbph  pwqinenibp, npnGghg
jnipwpwbgniphb nyjwy ontlpny
hwiwwwuwnwuuwbnigwb a6 £ npynid y-h npnawyh
wnpdtip: x-h wyn wnpdtplGph pwagdnigntbp (hwdwfpunidpp)
woJwob] Gap  £(x) 9$nllghwih npndwl  whpnyp:
GnUpwswihnnpbl wn whpnyep hptlhg GBpYujwglnid Ep
ninhn ox wrwlOgph Ypw Ywd M yGwnbph dph {M}
pwquntpnLl:

z=1f(x,y) Gpynt  thnthnjuwywblbbphg  Ywjuwé
dnibyghwb npnpGnt hwdwn wtwnp £ gniyg tnwbp, pE X, y
thnithnfuwywbbbpp  (x,y) wpdbpltph  hOswhuh  qniygbn
wpnn GO pOnnibG] hwdwwnbn, hGUg wn qnuygbph M
pwauinigntbp Yhth x, y thnthnfuwwbbGph thnhnfudw
wnhpnypp (npnz0wh whpnypp” D) ):

Uwhdwlnd. z  dnthnjuwywlp  (bhnthnjudwla Z
nhpnypeny) Ungynid £ x, y wllwfu  thnthnfuwywbatnh
dnilyghw M pwqdnipnibnuy, Gpt  M-hg  JGpgpwé
Jnipwipwbgnip wnpdtplbph (x,y) qnuygh (Ywd M YGunh()
npLt YuwOnOny Ywd optlpny, hwiwwwuwnwufuwbtgynid
z-h 4Gy npnwyh wpdtip Z-hg:

Npunbn M pwqinentbp  Yynsyntd £ pnibyghwyp
npn20wl wnhpnye: X, y hinthnfuwywbbGpp yngynd G0 z
dnbyghwih wpgnudtlwnbtn: z L x, y hnhnfuwywbbEph
Yuuwp gnyntd .
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z=1(x,y), z=@(X,y), z=z(x,y) Lwl:

Gpt M,(x,:y,) Ytwp Ywd qnygp ytipgqws £ {M}'hg,
www f(x,,y,)-0 Gawlwynd £ f(x,y) pnibyghwin pywih
wndtpp, nnb pOnnibnd £ x=x,, y=y, nbGwpntd: Lnyh
dund £ uwhdwOdnd Owb x,x,,---,x, thnthnfuwywbGbtph

pnilyghwt L gndnd £ z=f(x,x,.--x,), ophbwy
z=nx;x, dnlyghwt phptlhg O6GpYwwglnd L guulh
Swywyip, npnbn x4-p hhdph 2wrwdhnl t, huy x2-p Gpw
pwndpnipntip:

OphGwy. Qwnlb| z=-/1-x; —x5 $nlyghwh npndwh
inhpnypp: POoswtu ghinblp tnjwd dnibyghwih npndwb
whpnypp  npnaynud £ 1-x7 —x3 >0  wwjiwlhg  Ywad
x;+x;<1, npp  hpkOhg  OGpYuwywgOnd £ dhwynp
2nowbwaghd, nph YshuwnpnGp guinbynud £ YynnpnhbwwnGbph
uyqplwytunnid:

Lwlh np (x,y) pdwanygny npnyntd £ hwppnipjwb dh
M ytuwn, ntunh Gpynt hnthnfuwwbh $nibyghwih npn2dwb
inppnypp Gplnpwswithnptl Yaepywjwglh M(x,y) Ytuintph
th M={M} pwqlnignit  xoy hwppnipwl  Upw,
dwubwynpwwtiu ap hwpp wuwuwytp, npp
uwhiwOwthwyywé t aky Ywd dh pwOh gébpny:

Ywi hOswbu yepp pEpdwé ophbwynud
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X2 A
X+x3 <1

. ,
<

Ahaun wnwbu k| u=1(x,y,z) Gpbp thnthnfuwywbbtpp
dnilyghwih  npnzdwl - whpnypp  Yihth  (xy,z) Grjwy
wndtpltph hwdwfunidpp, npp Gpypwswihnptl
Ywwunytpwglbtlbp npwbu M(x,y,z) YGintph dh pwqintpjwb
M ={M} pwqinLpnLl mnwnwénLpjwl uko:
Uwulbwynpwwtu tnwnwowywh dwnuiha, npp
uwhdwOwthwyywé t akY ywa dh pwbh dwytplnypbtpny:

1. 65pynt hnthnfuwywbh $nbyghwih
Gpypwswhwywb ywunytpnidp

Uty thnthnfuwywbh $nibyghwh nbwpnty, x-p L Gpwb
hwiwwwuwunwufuwbnn y-p nhuhwpytiny, npwbu
nGwpuywb  YynnpnhGwwnlbbp  hwppnigywb a6,  (X,y)
Ywpgwynpywé pywanyght hwiwwwunwufuwbnid tp dp
M Yt hwppnigjwb Jypw: <wppnipjwb d6o wjt pninp M
UGintph  hwdwpunidpp, npnbg  (x,y)  YnnpnhGwunbbpp
pwywpwpnd - G0 wnwd y=f(x) hwyjwuwpdwp,
wodwlnud  Gp  wyn  $nibyghwh  Gpypwswhwywhb
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wwuinlbp Jua gpwdhy: Unynpwpwn wyn oh L Ynp Ep
(Qwubwynpwwtu ninhn), nph wpntyghwbt ox wrwbgph
Upw th [2;6] dhowlwyp tp, npp L hwonhuwntd kp y = f(x)
dnibyghwih - npn2dwlb  wmppnyp  (Get  nibyghwh
wopnhww t): Wu nbwpnid wund GOp, np Gpp x-p
thnthnfudnid t a-hg dhbsl b, M(x,y) YbGwntpp génud GG L
Unnp:

Y“

<wiwbiwb &und z=f(x,y) Gpynt thnhnfuwywlh
$nibyghwyih nGwend  x-p,  y-p L OpwGg
hwiwwwuwnwufuwbnn zp nhuwpytiny npwtu
nGwpunywb Yynnpnhbwwnbbp vnwpwénigwa dke (x,y,z)
pywihl Brjwynt Yhwiwwwunwujuwltgltlp dh M Ybun
nwpwontgwb ub9: Swpwdénigwlbt wybh pninp M(x,y,2)
Ytuwntpp hwdwfuniipp, npnGg ynnpnhbwuwnlbpp
pwdwpwpnud G0 z=1(x,y) hwjwuwpdwbp, Ywbdwitbp

wyn $nLbyghwh Gpypwswthwyul wwnytn Yud gpudhly:
Undnpwpwp  wn Yhth oh S dwytplnyp, nph

wnnjGyghwb xoy hwppnigjub Yypw Yhoh dh G hwppe

wwwytn, npp Yihth hebg f(x,y) pnibyghwih npnzdwd

nhpnyRQ:

Lwutlp, np Gpp P(x,y) Ybwp thnthnfuynud £ G inhpnyypniy,

hwapOybtind pninp Yenbph htwn, win nbwpnid P(x,y,z)
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yGuwp, npinbn z-p npnpynud oz =1(x,y) pnibyghwyny géniu
t S dwybplunypp:

‘ s
JLES s AT

<v

v

2. Uh pwOh thnthnjuwwbGtph $nbyghwyh
uwhiwlp L wapanhwwnnegynLbp

Uwptliwwunhywywh wlwihgh 2w
hwuuwgnnnigntbbbp (qunwihwpltp), npnbp uwhdwbytg
G0 o6y thnthnjuwywbh hwdwn, wyunndwwn Yepwny Ywnpnn
GO uwhdwOdty Owlk dp  pwlOh  thnthnfuwywbGtph

dnbyghwih hwdwn:
UwhdwOnwd 1. P(x,,y,) Yawh & 2powlwyp Ynsyned

P yGhwpnOng L 6 wrwynny 2npowbh GEpph0 dwup L
Gawlwyynio £t U( P,8) uhtdniny:

Uwhdwlnid 2. A phdp Yngdnd Lt z=1(x,y)
dnibyghwih uwhdwbOp P, yGwnig, Gt Ve >0 pyh hwiwp
FUE;:8)  wlwhuh  2npowiwip, np o wjn 2powlwphl
wwwwbnn pninp YeGnbpnud (pwgwentpjudp gnigt P,
Uswh) bpwdwgh t henlywip  [f(P)-4<e, Yud
|fny)—A<e:
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Un nGwpntd gnpnid GU° lli%r{)})f(P):A Yuwd xli_{ﬂf(X;Y):A’
Y=Yo
npnyhGwnbl Gpp PP, wwyw x - Xx,, y 2 y,:

LUnylb 4duny, Gt dGOp nbGOp n  thnhnfuwywh
y=f(x,x,,....x,)  pnibyghwl, M(x,x,,....x,) YGwp L
M, (x5, %, ) YEwnbnp, www wudwép  Yunbih b
Gnypwswthwywb  wnGpohbbepny  duwytpwb]  hGunlywg
Gpw.

! qu phdp Yyngyned £ f(M) pnibyghwih uwhdwb™ M Ytuwnp
M,-hb dguntlhu (Ywd M, Yytwnid), Geb jnipwpwbsnip
>0 pyh hwiwp gnnignthd nibh wybwhuh >0 phd, nn
|f(M)-A <&, hitg np MMg htirwynpniginilp thnpp £ 7-

hg

[\/(x1 — X, )2+(x2 —x20)2 +-~-+(xn =X, )2 <rj:

Glpwnpdnud  t, np M Ybunp Mxx,,....X,)
wwwnywonud b fxx,,...x,)  dnbyghwh  npndwb
wnhpnyph M pwqgdnipjwbp, L (1) wlhwywuwpnintlp
wtwnp L wnbnh nbGw M pwqinigwb wyb YGuinbpney,
npnbp qubynid 6O My YGunh pwywywlwswih thnpp
qlnwyhb 2powywpnty, pwgwenipjwip Mg YGunh:

Uwhdwbnid. Uunid G0 z =1(x,y) $nibyghwb ynsgyned
wbpUnhwuwn (Xe,Yo) YGunney, Gt

1) Gw npndwié | M (x,;y,) YGuwniy,

2) ntbh dGpowydnp uwhdwl, x - x,, y = y,,

3) wyn uwhdwOp hwywuwn t $nibyghwh wpdbphl

Mo Uinnud, wyuhGRa™ lim f(x, y) = f (x5, 3,):

Y=Y
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§ 2. Uh pwGh thnthnfuwywGGtph $nibyghwyh
duubwyh wéwagywibtpp: dnbyghwyh
nhytiptOgtihnigintlp: Lphy nhptntlghuwy:
Gnywihnn hwppnipjwl L Gnpdwih
hwywuwpnuibtpp: Lphy nh$tptaghwih
Gpypwswhwywb hdwuwnp:

1. Uh pwOh thnthnfuwywaGGtph $nibyghwyh dwubwyhp
wowlgwbtGph uwhdwbnudp:

Luwifu nhunwpytbp Gpynt  hndhnfuwywbbtph
z=f(xy) $nillghwh nbwpp: Ihgnip A,z-p z=f(xy)
$nibyghwih dwubwyh wad t P(x,,y,) YGwnd pun x

wngniiGlwnh:
Uwhiw(nid Gpb gnjnipyntb nlbp

lim Az — lim f(xo +Ax’yo)_f(xo’yo)

Ax—0 A_x Ax—0 A_x
JGpowynp uwhdwlp, www wl yngynd b z=f(x,y)
dnibyghwih dwulwyh wéwbgjw| pun x wpgniitbwh P,

YN L Gwbwynud b wjuwbu £ (x,, y,) Yuid 8f(ago,yo):
X

’ . X +A_x, - X, .
UJUWhunq, fx(xo’yo):iig}) f( 2 )Z)x) f( 0 yO):

Lnyb Yepw uwhdwOynd b Gowowyynid £ z= £(x, y)
dnLbyghwih duubwyh wdéwbgjwip puwn y
thnthnfuwywbh B, yGuinnud’

’ s X B +A _ X, s
fy(xo,yo):gglof( 0° Yo Ay)? f( 0 yo)
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COnhwOpwwbu, n thnthnfuwywGGtph
2= f(x. %, x,) $nilyghwih dwubwyh wéwbgjw) puwn
x(i=12-n) wpgnuitonh P, (x°x%,.x°)  Ytwned
Ynsyned £ wyn yewnnid pnibyghwih Az dwulwyh wah b x,
wpgnuibtnh  Ax; wdh hwpwptpnigwb uwhdwbp, Gpp
Ax;, — 0, Gpb wyn uwhdwbp gnyneynLl nLbh.

fo(axyex) =

a0 X xx + Axxl e x? ) = f (X0, X, x? )

=1lim
Axj—0 Ax

Uwulwyh woéwbgwibbph wpdtplbpp Ywjudwéd GO
wi  P(x,y) Utwhg, npubn npwlp hwaddnd GG
<einbwpwp,  Gpyne thnthnfuwwbeph 2= £(x, y)
dnbyghwih  dwulwyh  woéwbguwibtpp, plnhwipwwbu
wuwd, P(x,y) Yswnh pnibyghwbn &0, wjuhbplb Gnybwbu
hwOnhuwOnwd GG Gpynt thnthnfuwywGbOtph $nbyghwltn,
npnGp Gawbwyyned GO wyuw by’

e y) £l y) Yud 2,2 Yud %,%:
X dy

LUnyl ybpw Gpwbwyynid 6O Gptp L wytih thnthnfuw-
YwbbGnh $nibyghwbbph dwubwyh wéwbguwbtpp:

LPwlh np dh pwOh thnthnfuwywOOEph $nbyghwih
dwulwyh wéwlgywip punn nplbt wpgnuitbwnh npnztihu
gntu pnnp wipgnudtbnbbpp nhinynud 66 ppple hwuwnw-
unnLb0Gn, nunh wyn dwubwyh wéwbgwip gunbtint gnp-
onnnipintbp  thwuwnnnpbh hwbgnud | a6y thnthnfuwywGh
$nibyghwih unynpwywl wéwbgywip gunbbinilt: <Gnluw-
pwn, dh pwbh thnthnfuwywbbGtph $nbyghwbtph dwulw-
Un wéwbgywibtpp gunlbbint hwdwp ogunynid GO dGY thn-
thnfuwywbh $nibyghwbtph unynpuwywb wdéwbgyuibbpp
hwyytint ywlanGbGphg:
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Gpynt  hnhnpuwywbosph  $nibyghwh  dwubwyh
woéwlOgwibtpp aGYOwpwOBlLp GpYypwswihnptlU: “Yhgnip
z=f(xy) dnibyghwih gpwdhlp npbt dwiytinlnge £ Un
dwytplnypp hwwnblp y=y, hwppnigwdp: <wunnypntd
Yuunwlbwbp AB Unpp, npp yhth dpwb x thnhnfuwywbh
fleyy) Pnillghwih gpwdhlp vy =y, hwppnipwl dbe
(Gy.1):

ay. 1

Pwjg wn nbwpentd a6y thnthnfuwywbh dniblyghwih
wéwbgwih Gpypwswihwywlb hdwunh hwdwdw)t uwpnn
GOp wonbl, np f(x.y,) $nilyghwh wéwlgwin x=x,
yGunnid, Ywd np dhLOnyGa t, z = £(x, y) $nibghwh =z

X

dwubwyh wéwaguwip P, (x,.y,) Ytwnd hwjwuwn t P,

yuintd AB Yynphb vnwpywdé pnpnthnnny L OX wrwbgph
npwywb  ninqnipyub hGnn Ywgdwé o  wolywd
tnwbgbbuhl’

fx’(xo’yo):tga:
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bpt  z=f(xy) Owybpunypp hwwblp  x=x,
hwppnipjwdip, www hwwnnypntd Yunnwbwbp CD Ynpp,
nnp YhGh Shwyl y thnthnfuwywh z = £ (x,, y) $nillghwih
gnwhlp (x=x, hwppnipjwl d69): £ (xy, ¥,)-0 Yihth wyn
Ynphh P, YGwnd rnwpgwd nwihnnny L OY wrwbgph
npwywb ninnnipjwip yuqijwsé g waywb innwbgbbup’
fy’(xo’yo):tgﬁ:

§ 2. Uh pwGh thnthnfuwywGbtph Snibyghwgh
nhytiptagtihnieynilp: Lphy nhytptaghwi:

hOgwtu hupwnGh & z=f(x,y) $niblghwh inhy wap
P(x, y) Ytwnd nibh htinlyw) inbupp’

Az = f(x+Ax,y+Ay)- f(x,y): (1)

Yhgnip  f(x,y) $nibyghwb P(x, y) Yawnnid nibh
wOpOnhwwn dwubwyh wéwbgywibtp: dncbyghwih inhy
w&p 06pYwywgbtbp dwulwyh wéwbgywbEph dhongny:
Apw hwdwnp (1)-h weo dwuhb gndwptbp LW hwObOp
[y +Ay).

Az=[f(x+Ay,y+Ay)— f (6 y+Ay)]+[f(x, y + Ay) - £ (x,¥)]: (2)

Gpypnpn thwywagsnid  gunlynn £ (x, y+Ay)- f(x, y)
nwnpbpnigintlp - Yupbth £ nhwnty bpple dhuyb y -hg
Ywudwé pnilbyghwih Gpyne wpdtplbph wnwpptpnieniG
(xwpgnuitlbwp dbwgt) £ wadnthniu): Uin nwppGpnepjwb
GYywwndwdp yphpwretiny Lwgnpwbdh pbnptdp, Yunwbwbp
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f(xy+Ay)=f(xy)=f(xY)Ay, (3)

npuintin y-p gnbynid b y-h L y+Ay-h dholi:

dhpunn Gnylb Yspw wrwohl thwlwagdnid qunbynn
wnwnpGpniginlp - Yuptth £ nhwnGp hpple ahwyG - x-hg
Ywiuwé dnibyghwih Gpyne wpdtiplbph wnwpptpnieniG
(y+Ay wnpdbpp dbwgb| t wahnihnfu): Wn nwppbpnipjwb
GYywwndwdp yphpwretiny Lwgnpwbdh pbnptdp, Yunwbwbp

flx+Aay+Ay )= f(xy+Ay)=f(%y+ay)Ax,  (4)
npntn x -p gunbaynid b x-ph b x+ Ax-h dhol:

b Gywuwnh nlbGOwiny (3) L (4) hwjwuwnnipntbGtpp,
(2)-pg ynibGLwbp

Az=f/(X,y+Ay )Ax+ f/(x, 5 )Ay: (5)

Cun  wuwdwth  f(xy) L f/(xy) dwubwyh

wéwOgw06pt wopbnhwwn GG (x, y) Yewnud, hbnlwpwn,

Ywnnn GGp gnti’

lim f/(%.y+4y) = f/(x.y),
co o) [ ®
lim f/( %,y +Ay )= f/(xy)

(wwpq k, np Gpp Ax 5 0,Ay - 0, wyw x - x,y = y):
Uwhiwbbabph inbunipjwb hhdbwywb |6dh hwdwdw)G

(5) hwywuwpnigntbbpp Ywpnn  GOp  GeEpYwywglt
hGunlyw| wnnGupny’

(7)
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nhmbn a-0 L A-0 wOdbpe thnppbp GO, Gpp
Ax — 0,Ay — 0 (wjuhlpl’ Gpp Ap =+/(Ax)* +(Ay)* = 0):

(7) hwdwuwnpnigntbbtph 20nphhy (5) wrGsnipnLGp
UpnGnniGh hGuinlyw) tnGupp

Az = fl(x,y)Ax+ f](x, y)Ay + oAx + SAy: (8)

oAx+ Ay gnidwpp  pwndp  Ywpgh  wGdtpe thnpp &
Ap =+(Ax)" +(Ay)" -0 wlytpg thnpph GYwwndwdp, Gpp
Ap — 0: bpnp,
lim GAXEAAY o OAX i Y 0=
Ap—0 A,O Ap—0 A,O Ap—0 A,O
Ay
Ap

(8)-h we Vwuh wrwohl Gpynt gnidwntihbGph
gniiwpp géwhb £ Ax-h L Ay -h GYwwndwdp:

BRb f/(x,y)#0, f/(xy)#0, wuyw
£ y)Ax + £ (x, y)Ay wpnwhwjuntpnyGh hptithg
OEpYwywglnid £ $nibyghwih wah gifuwynp dwup, npp AZ -
hg wwnptnynud £ Ap = /(Ax)” +(Ay)” -h Ghwndwdp pwnan
Ywngh wbytpg thnppny:

Uwhiwonid. 6pb  z=f(x,y) $nibyghwh wap (x,y)
yGwnid Yuptbh £ OGpLuywglty (8) wbupny, www £(x, y)
dnbyghwb wyn yewnnd ynsdnid t nhdpbpbagtih, huy wah
gifuwynp  dwup  Yngynd &t iphy  nhdtiptoghw; L
Gpwlwyynid £ dz Ywd df (x, y) uhidniny:

Wuwhund, Gpt f(x,y) $nibyghwl wnpdws Yewnnid
ntoh  wOpbnhwunn dwulwyh woéwbguibbp, www wyn

<1,

(pwOh nn @ — 0,8 — 0 L, pwgh npwng, ‘;ﬂ <1):
Yo
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Pnibyghwl nhdbiptbgtih £ G2dwdé YGund L nbh |phy
nhdtntlghw’
dz = f/(x,y)Ax+ f](x, y)Ay:
ubywpu  thnthnfuwywbiph Ax L Ay  wdbpp
Ywlwdwbtlp x L y thnthnfuwywbGtph nh$tnptughwbtp
L Yowlwybbp dx L dy: Un nGwpentd (phy nhptnptaghwip
YnGnniGh hGuinlyw] tnGupp

dz = f[(x,y)dx+ f](x, y)dy Yud
0z 0z
dz=—dx+—dy:
ox +8y
Gpbp L wdblh thnthnfuwywaltnh - $nibyghwh
nhytiptagtihnipjwl L |phy nhytnGlghwih qunuwithwnbtpp
tnpyntd o]0 &hown wjlbwbu, hGswGu Gpynt
thnthnfuwywbbotph $nibyghwyh hwdwn:
nswthwOh nplk wnhpnypntd nhytptlgtih
2= flx,x.x,)  dnillghwgh  |phy  nhdbptlghwG

wpunwhwynynid  hbnlyw) pwlwdlny’

dz =£abc1 9z —dx, +- +a—dx
ox, ox, ox,

OphOwy. Qb U=xy*z—2xy+3yz+xz Gptp
thnthnfuwubotph Ulx,y.z)  $nlbyghwh  (phy
nh$tiptaghwip (x,y,z) Yawnnua:

Lniéni. QultGp dnLbyghwyh dwulwyh
wdéwbgyw btpp

ou —=y’z-2y+z, g—u:2xyz—2x+3z, g—uzxy2+3y+x:

ox y 'y
{Gnbwpwn, |phy nhdtptoghw) pwlwdélbh hwdwdw)l
ynibGOwhp

84



du=(y*z =2y + 2)dx+ (2xyz = 2x+3z)dy + (xp® +3y + xldz:
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3. Gnwihnn hwppnipjwb L Gnpdwih

hwywuwpnialGbpp: Lphy nhytptaghwih
Epypwswhwywb hdwuwp:

Ahgnip z = f(x. y) $nilyghwl nplt nhpnyeh
P(x,.y,) Ytwnud  nGh  wOpOnhww  dwuGwyp
wéwbguibbn, wuhbpl®™ win Yewnnd nhdbpkagbih £ Wn
dnibyghwih apwdhlp nplk Sdwytplnygpe t:

Z

" AX 'x(]
X, + P,

X P(x,y) uu 2

S dwytnlnyph Mo(xo’yo’zo) (2 :f(xo’yo)) YGunnid
2n2whnn hwppenipntd Ynggnid £ wyb hwnppnipinibp, npp
wnpynud £

Z_Zo:fx,(xo’yo)(x_xo)"'fy/(xo’)’o)(y_yo) (1)

hwywuwpniiny, npwntn z-p hwppnipjwb pbpwghy YGwnh
wuwhywwnl E:
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Gnpwihnn  hwppnipintop - Gwlwytlbp 7-nd: Wa
wbgbnud £ dwybplnyph M, yGwnnd L nwnppGpdnid £ wyn
yGuind waglnn pninp hwnenipntbbtphg:

Ahgnip  P(x.y)=P(x, +Ax,y,+Ay)  Uswnp  OXY
hwppnipjwb Y& t, npp dnin b P(x,,y,) Yawnha (0Y.2):
Ntnpnp, npG woGgbnud t P Ytwnd L gniqwhte Lt O0Z
wrwbgphl, T hwppnipjnttp hwwnnd £ Q YGunng, huy S

dwytpunypp” M YGwnd: M Yeuinh wuhywwnp hwyjwuwn
b z=£(xy), huy Q Yswh wwhunp’

z= f(xo’yo)"‘f;(xo’yo)(x_xo)"‘f;(xo’yo)(y_Y()):

M L Q Uytwbph vhole Gnwdé hGrwynpniginilp
hwdwuwn t°

| MO =] £ (xy)=F (x5, )= F/ (%3 ) (x=x,)+ £/ (x,.3,)(y=,)
Ywad
| MO |=| Ac=[ £(x,,y, ) Ax+ f/( x5, ) Ay ] (2)

Pwlh np £(x,y) $inlyghwh nhdtiptagih t A, (x,. y,)
yGuwnid, nwunh (2)-h we dwuph hwlwagstph dbe qunlynn
wpunwhwynnigntp wyn $nibyghwih nhdptptaghw bt E:
LGwnbwpwn, (2) wrbsnipyntop Ypannibh hbwnlyw) inGupp

| MQ|=|Az—dz|:

hOswGu ghwnblp, Hnibyghwih wap wn pniblyghwih

nhdbntlghwihg  wwpptpdnid & Ap =+/(Ax)" +(Ay)°

dGonipjwlb OGYwuwndwdp pwpép Ywnpgh wbytne thnppnd,
Gpp Ap >0 (Ax—>0,Ay »0): NkpGd0T  [MQ| -0, bpp

Ap —0:
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Wuwhuny, wwwgnigdbig, nn S dwytplbnyph M,
yGuinid 2n2nwithnn hwpeniynttb wogbnd | wyn Yeund b
odinjwéd t hbnlyw; bhwwnynigjwdp. S dwybplnyph
gwllywgwé M(x,y,z) Ysinh htrwynpnipinibp 7 2n2withnn
hwppnipintthg 0OZ wrwlgph ninnnigjwdp dgunnid £ gpnjh,
wyblh wpwa, pwl Ap-G:

Un hwwnynigintp  plinpwgpuwywt £ 2n2wthnn
hwppnirwl hwiwnp, npnyhGwnl Gt npllk

Z—ZOZA(X_XO)+B(Y_)’0)= (Zo:f(xo’)’o))

hwppnipjntt odnywd £ win hwwnynipjwip, www Ywnbih §
hwaingyb(, np wyt S dwytpunyph 2n2wihnn hwnpenpntb
UGpw M, YGwnio:

Utnpwnwrbwiny 2nwihnnh (1)  hwdwuwpdwp
Owwind GOp, np Opw we twup  f(x,y) $nibyghwih
nhytntlghw) 0 : P,(x,,y,) yeunnuy
dZ:fx,(xo’yo)(x_xo)"'f;(xo’)’o)(y_YO)’ huy dwfu dwup T
2n2wihnn hwppnipjwl wwihywunh wab t wyn yeunned:

Uuwhuny, z=fley)  dmlyghwh  |phy
nhdtntaghwip 7 (x,.y,) Yswnd  hwdwuwp & wn

dnibyghwh - apwdhyp  hwlnhuwgnn  dwybplinyeh
2n2wihnn hwppnipjwb wwhywwnh waht wyn yeunnid:

UpwOnud £ YuywOnd £ |phy  nhdtptlghwih
Gnpypwswihwywb hdwuwp:

Ujda Swlnpwlwbp dwytnlnyph Gnpdwih
gwnwhwnha:

Uwytpunyph M, YytGwnd wlglnn L wyn Yytunud
2npwhnn  hwppnigywOb ninnwhwjwg ninhnp Yngynid
dwytplnyph Gnpdwy M, YGwnid:
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Oqgundtny 2n2wihnn hwppnipjwb (1) hwjwuwpniihg
L ninnh nt nt hwppnipjwb ninnwhwjwgnipjwt wwjdwbhg
z=f(x,y) hwjwuwpning wpwéd dwybplnyph M,
yGunnid Gnpdwh hwywuwnpnidp Ywpnn Gp gpbp hGunlywg
inGupny’

X=Xy Y=Yy 27 Z, (3)

fx’('XO’yO) f;(xo’yo) -1
Uwytplnyph M(x,y,z) Yawnnd 7 Onpdwy ysyunph
Ywqiwdé waynbbpp 0X,0Y,0Z wnwlgplbph hbwun
Gowlwytiny hwiwwwwnwufuwlbwpwnp a,B,7 L hwyh
wrObny (3) pwlwdlp, hbunnipjwdp Ywpnn Ghp unwbwg
n yGywnnph ninnnpn Ynupbniubtipp®
£ley) flxy) 1

— osff=———, cosy=——,
z z 7]

cosa =

7] :\/fx’z(%)’)+ 2 y)+1:

§ 4. Uh pwlh thnthnfjuwywGGEph pwpn: $nibghwh
wéwbgjwbtpp:

Pwpn $nibyghwih nhdtptaghwp:
Pwndép Yunpgh dwulwyh wéwagjubtp L

nhdtpttghwbtn:
1.  Pwpn $nibyghwih wdwhgniip:

Ahgnip nput D whpnypntd nipdwé oz = f(x,y)
dnilbyghwl, npintn x L y wpgnuatbwnbbpb hpthg hbpphl
¢ thnthnfuwlwoh nibyghwbp 60° x=g(c), y = (), pin
npntd  £-h thndhnfudw b wnhpnypht wjbwhupb t, np Geb
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teT, www (x,y)e D: Un ntwpentd z-p YhGh 7-h pwpn
$nilyghw 7 whpnypnud” z = £ (@) (1))

@tnpGd. Gt x-p L y-p puwn 7-h wéwhgtih $nibyghwbbp
GO, wuhlpls™  gnipnt nobl x/ =¢'(¢),y/ =w'(t)
wéwlgwilbpp,  huy  z=7(xy)  dnlyghwl  7-hG
hwiwwwwnwufuwb  (x, y)e D Yewnd nhdbpkagtih t,
www z=f(elt)y()) pwpn $nibyghwt GYws Yawnnid
woéwlgklh £, L Opw wéwbOguwip npnadnd | hGunlywy
pwOwdlny’

de_dzdx  dzdy. )

dt oxdt OJdy dt
Uwwgnignid. ¢ thnthnfuwywOhl wnwbp nplk  Ar wd
(t+Are T): Wn nbwpntd x Ly $nibyghwbbpp Yunwbwl
hwiwwwuwnwupuwlwpwp Ax L Ay wdbp, npnbp hpthg
htpphl Ywrwowglbl z = £(x, y) Pnibyghwih Az wa: Lwlh
nn Z $nilyghwl nhdbptoghih £ (x, y) yewnnd, niunh Az
w&p Ywnbih £ GGpyuywglb] hGunlywy inGupny®

AZ=%AX+%Ay+OtAx+,5Ay, (2)
ox dy

nhmtn a-0 L A-0 wOdbpe thnppbp GO, Gpp
Ax —0,Ay ->0: (2) hwjwuwpdwbt Gpynt  dwubpp
pwdwbny Az-h ypw, Yunnwbwbp’

Az_OdzAx dzhy o Ax gAY
At dx Ar  dy At At At
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Uu hwdwuwpnigwb dbo wbgltbp uwhdwlhb, Gpp
At —0:

limgzglimg+%limﬂ+ lima-£+ limﬂ-&: (3)
A—0 Af  Ox M—0 At ay Ar—0 A A0 At A0 At
Cuwn wywjdwbp®

A, Ay,
EL%A—t_x,—Mt), lim—= =y’ = y/(t),

gnu ynndhg  xe) L yl) Pnilyghwlbph
wdéwbgbihnipyntbhg htuinbnud £ Gpubg wbpbnhwuwnniendbn,
huy npwOhg hGnlunid §, np Gpp Ar—>0, www
Ax — 0,Ay - 0 L, htinLbwpwn, ¢ - 0,8 —0:

Uuwhuny, (3)-h we dwuh uwhdwbp gnnipyntt nibh,
Gpp Ar— 0, npbdt dwju dwuh uwhdwOp GOnyOwtu

gnnintt nbh L hwwuwp %-h: Wuwhund, (3)-hg
ynibGOwhp

d: _dzdv | dzdy.

= +——: (4)
dt Ooxdt Ody dt

OphGwy 1. z=x", npptin x=sinz, y=r>: Gty %

Lniontg. gzyx’“_l, %:xy Inx, ﬂ=cost, QzZt:
ox dy dt d

(4) pwOwdlh hwiwdwb Yunwbwbp’

4 N N .
;=yx>’*1cost+xymx-2t=t2( sins )" cost+( sinz )" 2rInsin =
1

=¢(sint)"" ( zcost+2sintInsint ) :
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Udd nhunwpytlp z=f(x.y) 9$nilyghwb, npuntbn
y=y(x): Wuwtkn z thnihnfuwlwp dshwa x-h $nbyghw’
2= flx y(x)):

Cuwn (4) pwlOwélh Ywpnn Gap gpb’

e _dedv 2 dy
dx Oxdx Qdydx’
Ywd
b ddy,

= : 5
dx dx dydx ®)

h  wwppGpneginll % quwulbwyh  wdéwbgwih &
ox dx

wéwhgwip Yngynid £ z pnibyghwih |nhy wéwbgywy pun
x-h, puy (5) hwywuwnnipntop Ynsynid £ (phy wéwbgywih
pwlOwdl:

Lnylb Yybpw nuéynud § % wéwbgwih gnnipjwb b

hwydwb hwpgp Gwb wb nGwpenty, Gpp z-p $nbyghw
Gnyniuhg  wytlh  tinthnfuwlywbbbphg,  npnlighg
jnipwpwbgnipb hp hGpphb r-h $nibyghw t: Ophbwy, Gk
u=f(xy.z), npntin x=(t),y =y()z=gl), wyw

du _dudx dudy dudz.

dt  oxdt dydt 0dzdt’

Ujdd nhunwpytbp wybih plnhwOnip nbGwp: "hgnip
nplt D whpnypnd tnpdwéd b oz= f(xy) Pnbyghw,
npntn x-p L y-p # L v thnthnjuwywbaEph $nbyghwbtn
GO° x=@(u,v),y=w(u,v), pan npnd «-h L v-h thnthnfudw(
G whpnyplt wjGwhuhG t, np Gpp (,v)e G, www (x, y)e D:
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Wn nbwpnd z-p Yhbh « L v Gpynt thnthnfuwywGGtph
pwpn $nibyghw G inhpnypnid’
z = flolu.v).ylu.v)]:

Gpet gnnipntt nilbGO %%Q@_y dwubwyh
ou dv dv du
wéwbgyuibbpp L % L % dwulwyh woéwbgywbtnh
x y

wopanhwun 60 (x,y) Yewnnd, www gnyniegnt YniGbow

Owl z= flpu,v)y(u,v)] pwpn $niGyghugh wewbgjwitbna
puwn u-h L v-h L Yuwpunwhwjuinytlt hGunlyw) pwlbwdlny’

0 _0:dx 3:dy 0 03 %y

— = , — : 6

ou O0xodu dydu dv Odxdv dyodv ©

hpnp, npwtugh unwOwbp, ophGuwy, s—z duubwyh
u

wéwlgwip v-0 wewnp t nhntp npwtu hwuwnwunnia: Wu
nGwpnd x-p L y-p Y httlt dhwyb « waywfu thnthnfulwGh
dnibyghwttn L puGnhpp hwbgnud b Gwfunpn nGwphG:

LGuinbwpuwp, g_z wéwbgwip gnynipyntl ntbh (i,v) Yeunud
u
L, pun (4) pwlOwdlh YntbGOwb htuinlyw| inbupp’

b _ocar 2y,
du Oxou Oyou

Unyb dunyd qunbniud GO % duwulwyh wéwbgwip: (6)
1%

pwlwdlp hGwnnipjwdp pUnhwOpwgynid  tgulbywgwd
pyny  dhowlYw|  wpgnuiGOwnlbp  nlbbgnn  pwpn
dnLbyghwih hwdwn:
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Ophlwy 2. z=x>+y*, npntin x=usinv,y=u’cos’v:

aunit; & 1% Swutwlyh wowtguwGtnp:
ou v
0z 0z ox . ox
Lnidnid. — =2x,—=2y,— =sinv,— =
Lont ™ X % y o sinv >
dy dy i
=ucosv,— =2ucos’*v,— =—-2u*sin2v:
u A%

(6) pwOwdlh hwdwdw)l, Ywnnn Gap gnt”
dz

— =2xsinv+2y-2ucos*v =2usin*v+4u’*cos*v =
u

=2u( sin’ v+2u’ cos*v ),

d . :
z_ 2xucosv+2y( —2u’sin2v ) =2u*sinvcosv —

dv
—4u*cos2vsin2v = usin2v —4u* cos* vsin 2v =

=u’sin2v(1-4u’cos’v):

§ 5. Pwpn $nibyghwih nhdptiptaghuwip:
Lnhy nhtiptiaghwih duh whthnihnfunigniOp:

LOGGwnyLLp Gpyne  hnthnfuwywbbsph  $nbyghwyh
nGwpep: Gt x-p L y-p waywju bhnhnfuwywltp G0, www
z=f(x.y) $nilbyghwh |phy nhdpbinblghwiG nibh hbnbyw
inbupp’

0z 0z
de =L+ Loy,
: ox gy dy Y

npntn dx-p L dy-p xL y wpgnuitbunh Yuwidwjwywh
wabnb 6GU™ dx = Ax,dy = Ay:
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Udd GOpwnptlp, np xp L yp u L v
thnihnfuwwbatph $nibyghwtbp 600 x = x(u,v), y = y(u,v):
Wn nbwpentd z-p Yhth w-h b v-h pwpn dnibGyghur
z= flx(,v), s v)]:

hgnip x =x(w,v) L y=y(u,v) Pnbyghwbbpp wopbn-
hww nhdbptogbh &0 (w,v) YGuind, huy z= f(x,y)
$nilyghw nhdtiptGgbih b hwiwwwwnwuuwa — (x, y)
yeunwd: z pnibyghwyh dwubwyh wéwbgywibbpp pun u-h
L v-h wpunwhwjnygnid 60 wjuwGu’

G _dzdx dcdy % _didr ddy, g
ou O0xou dydu dv OJxdv dyov

(8) hwwuwnpnipyntbbtphg Gpunid £, nn g_z

u
wéwagw06nt wopbnhwwn GG (,v) Yeunnud: <Ginlwpwn,
z= fx(w,v), yw,v)] pwpn $nillghwl nhdbntlgtih £ («,v)

yuind, wyuhbp® nbh |phy nh$Gptaghwy, npG nlbh
hGunlyw| wnbupp

L % duubwyp
v

dz = %du +%dv :
ou v

<wyh wrbbny (8) hwywuwpnipntbbtpp,
Yuuinwlwbp

dz ox dz dy dz dx dz dy
‘ (axau ayauj” [axav ayavjv
zﬁ(ﬁdu+%d\1j+%(a—ydu+a—ydvj:%dx+%dy,
ox\ du v dy\ du ov ox dy
npnyhtunl %du+a—xdv=dx, a—ydu +de=dy:
du v ou v
Wuwhundy,
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0z 0z
dz=—dx+—dy: 9
aw X+ay y 9)

{wuitiwuwnbin (7) L (9) websnipntGbbpp inbubnud
kp, np z=f(xy) $niGyghwih |phy nhdtptlghwb nilh
Unyt  wbupp wlOlwp  ws pwlhg, np x L vy
wngnLitbuinbEpt woywiu ghinthnfuwywGOtn &G, pt” niphp
thnthnfuwywbotph $nibyghwbbn Go:

Lphd nhytpGoghwih wju hwwnynigintbb plnnibywé t
wOjwolt] wathnihnfubihnipjwb hwwnynienib:

Uwywbt Gywwntbp, np Gt (7) pwlwdlbh 069 dx-p L
dy-p x L y wpgnuibGnlObph Ywiwjwywb wsbnb 6o,
www (9) pwlwdlh 069 dx-p L dy-p npnpwyh

dnibyghwbtph nhdytptaghwitp G0 L wu nbGwpniy,
pOnhwOpwwbu wuwé, dx # Ax,dy # Ay:

3. Pwndép Ywpgh dwulwyh wéwagywibbn:

Uh pwOh thnthnjuwywOOGph $nibyghwh dwubwyh
woéwlOgywibtpp hwlnhuwbnd GG Onylt wpgnudGOwnlGEph

dnibyghwbtn: Wn dnibyghwbtnb hptbg hbppht Ywpnn 6o
noGOw] dwubwyh wdéwlgwibtp, npnbp Ynsdnd GG
Gpypnpn Ywpgh dwulbwyh wéwbgywbtn:

Uuwbu, ophowy, z = f(x, y) $nibyghw nibh Gpypnpn
Ywnpgh snpu dwubwyh wéwbgwibtbn, npnbp uwhdwOynid
L GowlOwyynid 6O wyuwbu

d(0z _322_ d(0z _azz
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d(dz) 9’z ., s
ax(ayj =y~ Te)= 2
d(oz) 9’z  _, ..
dy (8yj o T Srbe)=e

bpbp thnthnfuwywalsph = f(x,y,z)  $nLalyghw
ntah Gpypnpn Ywpgh hOp dwubwyh wéwbgywben’

2
a [auj M:f;(_x,y,z):u;;

x| ox - ox*
a al/l azu ” — 7
g(a_xj - oxdy B fxy(x’y’z)_uxy '
J [ du 82u ” ”
9 (du)_ _ Jv.z)=u”.  Lwyl:
0z (axj 0x0z ooy 2)=u o

Lnyb yEpw uwhdwaynid b GQwbwyynud 66 Gppnpn L
wybh pwpdén Ywpgh dwubwyh wéwbgywbtpp:

Uh pwGh thnthnfuwybltph dniblyghwih 7#-pn Yuipgh
dwubwyph  woéwbgwibbn Yynsgynud &G (#1)-pn Ywngh
dwubwyh wéwbgwbtph dwubwyh wéwbgywbtnp:

OphGwy. z = f(x,y) $nLblyghwh Gppnpn Yungh

’z
oxdy’
dwulwyh wéwagjuip Gnyb pniGyghwih Gpynnpn Yungh
9’z
0xdy

dwulwyh wéwbgywyb £ pun y wpgnidbbunp’

0’z _9J °z .
dxdy> dy | oxdy )

Cun  dh pwlh wwpptp  thnthnfuwywbOtph
wdéwlgniihg unwgywd Gpynpnpn wd wybih pwpép

Ywpgh dwubwyh wéwbgywip Yynsynid £ juwrp dwubwyh
wdéwlgjwiy:
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0’z 9’z 9’z 9z

Ophowy, 22,22 92
N N N N NP BN

dwulwyh wéwbgywibbpp fuwep dwulwyh wéwbgwibtn
GG:

Opplwy 3. Qulb z=x>y’ pnibyghwih Gpypnpn
Ywpagh dwulbwyh wéwbgywibbnp:

Lnioned. %=2xy3, %=3x2y2,
ox dy
azz d 3 3 aZZ d 3 2
_:_2 :2,—:—2 :6 y
o’ ax(xy) Y ey ay(”) ~
aZZ d 2.2 2 aZZ d 2.2 2
252 fry)=on’, 21 2oy <6y
2
hOswbGu inbulnd Gop wnpwéd dnibyghwyh ;az
Xoy
2
aaaz fuwrp dwulwyh wéwbgjwibtnpp, npnbp wrwpptpyntd
yox

G0 dpwjb wéwbgwibtpp, npnbp vwpptpynid G0 dhwyl
wébgiwl htppwywinipjwip, dhyjwlg hwjwuwnp GG: Un
wpryntpp wWwwnwhww sk: vwep wéwbgwbGnh dwuhb
hpwywgh £ hbwnlyw, ptnptip, npp ptpnud Gop wrwlg
wuwwgnigiwa:

@tnpGd. Gpt aplulnyb $niblghwh Gpyne fuwrep
dwubwyh wéwbgywbtpp, npnbp hpwphg wnwppbpynud GG
dhwjt wéwlgiwl hGppwywinipjwip, wOpGnhwuin GO,
www npwbp dhgyubg hwywuwp GaG:

Uwulbwynpwuwtu, Gpynt thnthnfuwywGGEph
z= f(xy) $nibyghwih hwiwp nLotap'

0’z 9’z .
oxdy Jydx
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4. Uh pwGh thnthnfuwywGGEph $nLbyghwyh
E puunptiniilGtpp: Epunnpbanudh wbhpwdtin
wuwydwaaknp:

hgnip  Rylx,,)-0 flxy) dnillghwih npn2dwd

inhpnyph nplk Yew k:
UwhdwOnty. P (x,,y,) UYtwp ynsynud b f(x,y)

$nLbyghwh dwpuhdnish Y, huy £(B)= f(x,.v,)-0" wn
dnibyghwih  dwpupdnid  wpdbp  Jwd  wwpquuwbu
dwpuhdnid, Gt gnnipntt ntbh £, YGwnh  wjbwhuh
2nowlwyp, nphb wwiinywlnn guwlywgws Px, y)# P(x,. y,)
Uswnh  hwdwp  wbnh omh £l y) < Flr )
wlOhwywuwnnipniOp:

Py(xp,y,) Utnp Ungdnmd £ flxy)  Dnilyghwyh
dhhdnudh Yo, huy £ (x, y,)-0° win $nibyghwh dhhdnidh
wndbp Ywd ywpqwuwtu apbhdantd, Gt gnnigintd nlbh P,
yewnh wjbwhuh opewywyp, nphl Wwwnywbnn gwiywgwsd
P(x, y)# P(x,, y,) Ytinh hwdwn inbnh niah £ (x,y)> £(x, v, )

wlOhwywuwnnipyntOp:
W Uspw Ywpnn GOp wuby, np Py (x,y,) Ytuwne

flx,y) $nibyghwt niah dwpuhdnid  (GhOhdnid), et
flxy,) wnpdbpn wn Yswh dh npnz  2powlwypntd

dnLbyghwih atéwagniyt (bhnppwagntyl) wndtpl t:
dnibyghwh  dwpupdnuih L dhGhdnwdh  YGwinbpp

Unsynud GO wyn pnibyghwih tpunnpbinidh Yytunbp, huy
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dnibyghwih  wpdtipbpt wyn  Yenbpnud™  dnbyghwih
tpunptinidltbn:

Z
0 B .
.
X '}
ay. 3
A
z e 2= 1)
0 P
- ;
X @
ay.4.

3) L @) OywpGbpp |PLUwpwOnd GO Gpynt
thnthnfuwywGGtph $nibyghwyh Epunptinidh gunwthwpp:
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Epunnptdnidp qunwdwpp Gpep L wybh pyny
thnhnjuwywbbbphg  Ywujwsé  pnibyghwlbph hwdwp
uwhdwbynid £ Gnyb yepw:

@tnpGd. (Epuwnptdnudh  gnnugjwlb  wbhpwdtun
wwydwap): et z=f(xy) nhdtntlgbih $nilyghwt hp
npn2dwl  whpnyph  nplt P,(x,,v,) Ytwnd nilh
tpuunpbidniy, wuww win  dynbyghwih duubwyh
wowbgwibtpp P, Ytwnid hwywuwn b gpnjp’

fx/('XO’yO):O’f;(xO’yO):0:

Uwwgnignud.  Bpt f(x,y)  $nilbghwt P, (xy, y,)
YGunnd nbp, ophbwy, dwpuhdnily, www dGY wpgniiblwnp
flx,y,) $nmbyghwl x=x, Ytwnd Onybwbu YniGbGw
dwpuhdnud: <Gnbwpwn, f(x,y,) $nbyghwh wéwbgywip
x, YGunnud hwdwuwnp £ gpnh: Pwg wyn wdwbgwip
hwapoyons t P(x,,y,) Yt pun x-h fF(xy)
dnibyghwh  dwubwyh woéwbgwih hGwin:  Wuwhund,
f;(XO’yO):O:

Yuwwpyting  f(x,.y)  PniblYgwhl,  hwiwbdwh
nwwnnnnipntbbtnpny Yuunnwbwbp

f;(xo’)’o):():
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§ 6. Uh pwOh thnthnfuwlwaGaGtph dnibyghwih
Epuunnptinidh pwywpwp ywydwap:
Muwjdwbwywa kpunpbinuiabp:
Lwgpwbdh pwqiwwwuwnyhsbtph aGpnnp:

1. Uh pwOh thnthnfuwywGOtph $nbyghwyh
Epunnptiinidh pwywpwp ywydwap:

Jbpp Gowénid wwwgnigybg, np Gt nplt wthpnyeh
Py(xy,y,) UnnLd nhdbiptlgtih z = f(x, y) $nillyghwt nith
tpunptinud, www Opw dwulwyh woéwbguibbnb wyn
YGund hwwuwn &G gpnjp’ f;(xo’)’o):O’f;(xo’yo):():
Uuwhund, B, (x,.y,) Uswnnud £(x,y) $niblghwih dwubwyh

woéwbOgwiteph  qpnh hwjwuwn  [h0Gp wn  YyGunnd
dnLbyghwih Epunnptdonudh - gnynipywib wOhpwdtwn
wwjiwbbbnb £, puyg npwlp pwdwpwp wwjiwbbbn sGa,
npnyhGuinlk  wndjwy  yeund - pnbyghwyh dwubwyh
wéwbgwibtpp Ywpnn 60 nwelw) qpn, pwjg win Yeuned
$dnibyghwb  tpunnptdnd  snibGOw:  Ophbwly, z=xy
dnilyghwih 2/ =,z = x dwubwyh wéwhgjwitbpp F,(0,0)

yGwnnd hwywuwp GG qpnjh, pwig ndwn st hwdingyti, np
wjn Yewnd  Epunpbonid snibh: bpnp, z(P)=0, pwig
P(x.y,) Ubtnh  gullwgws — ppowlwypnid  z=xy
dnbyghwb unwlbnud £ phOoswbu npwywb, wbwbu k|
pwgwuwlwl  wnpdbplbp, nipeit P (0,0)  Ytwp
tEpuunptinidh YyGuwn st:

Lywuwntlp, np dnbyghwb tpunpbdnd Ywpnn L
nOoGOow] Owbl  wlwhuh YGunbpnd, npubn dwulbwyh
wéwlgwibbpp Ywd Opwbghg uGYp gninipyntd snubp:
onhwy, z=|x|+|y| $nbyghwb 0(0,0) Ytwind nibh

dhhdnuy, pwyg Gpw  dwubwyh wéwbgwbEnpbwn (0,0)
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yeinnd gnynepinth snilbG: (nbu  y =| x| $nibyghwb x=0
YGuntd wewbgywy snibh):

Ul yGwbpp, npnbn  dnbyghwh  dwulbwyh
wéwbgywbtpp hwdwuwnp GG gpnjh Ywd gnynipincl snibka,
wbywbned GG Ynhuwnhywywb yGwnkn: Jbplnd
2wpwnpywaohg hGunlinid E, nn $nilyghwih
tpunptinudlbpp  hwpywdnp £ hbwinptp  Ynhunhyuwyw
YGuntbpniy:

Ut hwnghl, pb  Ay(x.y,) UnhinhYwhwl  Yewnnud
f(x,y) nebyghwb nibh wprynp tpunnpbinty, wwwnwufuwl
Yuw tpunptinudh gnnugyulb pwywpwp wwdwbp, npp
YéLkwytpwtlp wrwbg wwwgnigiw:

@tnpbd. “hgnip  f(x,y) Pnibyghwb npnpdwé
P,(x,,y,) Ytwh dh npny 2powluwipnid L wyn Yewnnud nilh

Gpypnpn Ywpgh woptnhwwn dwubwyh wéwbgjwbep’
f;(xo’.V()): A, fx:(xo’yo):Ba fy,;(xo’yo): C:

Glpwnptlp Owl, np Po(xo’yo) YGunp f(x’)’)
dnibyghwih unwghnbwn Yeuwn t, wyupbpl

f;(xo’yo):f;(xo’%)):o;

Un ntwpendd, tpt A= AC-B* >0, wwyw P, Ybwnnid
dnibyghwb nibh tpunpbdnud, pGn npnud dwpuhdned, Gpp
A<0(C<0), dhGhonwy, btpp  A>0(C>0): bpb
A=AC-B’<0, wyw P, Ytwnd $nibygwhl tpunptanid

nLbh;
i A =0 nbwpntd £, Y&wp Ywnpnn t hO6] Epunptdnidh
YGin Ywd ng: Wu nbwpnid wlhpwdtn GO [pwgnighs
hGunwagnunignLbbtn:

Ophbwy1. Qunlt z=x" +3xy> =30x—18y
dnibyghwyh L punptanidbtpp:
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Lniénud: QunbbOp  wrwghG  Ywpgh  dwulwyp
wéwhgjwbbpp’ Z, =3x" +3y? =30,z =6xy—18: un
wéwagwibbpp hwywuwpbgbbind gpnjh, hwbgnid  GGp
hGunlyw] hwdiwywnpghl

2 2 _ 2 2 _
3x” +3y —30—0:> X" +y —10:
6xy—18=0
Lnusbind wju hwdwywpgp, gunOnud GOp hGunlyw
unhl’nhul’uuwu ubmbnn P1(3’1)’P2(1’3)’P%(_ 17_3)7P4(_3’_1)

UjbnihGuinlk qubtbp Gpypnpn  Ywpgh dwulwyh

woéwagwilbpp” 2, =6x, 2z, =6y, z,=6x L Juqutlp

2xy =6

hGunlyw] wpwnwhwwnnieniop” A(P)= AC - B?:
1. A(R)=18-18-6°=258>0,A=7/,(P)=18>0, P, Utwp
dhGhdnidp Yybuwn t: Lnyla duny hwdingynid Glp, nn
2. A(P,))<0,P, Ybunnid Epuinpbinid shu:
3.  A(P)<0,P, yswninid tpunptonid sywi:
4. A(P,)<0,P,, A<0,P, Ytwnp dwpuhinidh Y& t:
Tmin = Z(Pl): 12, 2y = Z(P4): 72!

2. Mwjdwlbwywb kpunptinea:
Lwgpwbdh pwqiwwwwnyhsbtph abpnnp:

<wdlwpu  hwOnhwynid 60 fulGnhpbbp,  npnGp
wwhwbond &GO gl wu Ywd wyb  Inbyghwih
tpuinptinudlbpp, Gpp win dnibyghwyh wpgnudtbuinbbpp
GOopwpyyned GG (pwgnighs wywydwbbbnh: Unynpwpwn wjn
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wwpwbbbpp  wpdnud GO d6Y  Ywd dph pwlh
hwywuwpnuibtpny, npnGp ynsyned v]0] Juwuwh
hwdwuwpniilbtbn:

Lpwgnighs wwydwbbtph Ghpwpyynn wpgnudtOwnbtn
ntatgnn dnibyghwih tpuwnptiniudp Ynsynea k
wuwjiwbwywhb tpunnptdinty:

Ahuinwpytbp Gpynt hnthnfuwywbatph  $nibyghwyh
wuwjiwbwyw tpunptidnidh hwpgp, Gpp wyn
thnthnfuwywGGtpp Yuwwdwé GO Ywuwh aGy
hwdwuwnpniiny:

Ohgnip  wwhwboynd £ qulb  u= f(x, y)(1)
dnibyghwih tpunptinudbbpp wb ywypdwlny, np x L y

thnthnfuwlwbatpp Yuwwé GG o(x,y)=0(2)
hwdwuwnpniiny:

Gpt Ywwh (2) bhwjwuwpnidhg hGwpwynp §
thnihnfuwywbbbphg dGYp, ophbwy, y-p wpunwhwwnby
gniup dhongny L wyl inbnwnpbp (1) hwjwuwndwb aby,
www «  dnbyghwbt  Ynwelw o6Y  thnthnfuwywGh
dnibyghw L fulnhpp  Yhwlbgh  0GY  thnthnfuwywah
dnibyghwih  undnpwywl  EpunptdnudbGpp  qulbniG:
Uwywjb dpown sk, np Yuwh (2) hwjwuwnniihg hGwpwynp
t gl thnhnfuwywbOBphg d6Yp™ wpunwhwynywé yjniup
dhongnd:  Un  nbwpmnid  w=f(xy)  dnibyghwh
wuwjiwbwywb tpunptinudbbpp guinObint hwdwp oguinynid
GOp Lwgpwbdh wanpn) pwgqiwwwuwnyhsbGeph dbpnnhg, npp
YoEpYwywgyh uinnpl

x-h wyh wpdbplbpp, npnbg nbwpnd  w= f(x,y)
dnibyghwb Ywnpnn £ nbGOwy Epunptinid, «-h wéwbgjwip
punn x-h nwpdnud £ gpn: Ogundbind pwpn pnibyghwih
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wdéwbgdwl Ywonbhg, (1)-hg guinlbnid Ghp %-n hhyGiny, nn
X

y-D nillyghw t x-hg:
du_ _ of N of dy
dx dx dy dx
LGuinlwpwn, [punptinidh Yanbpnod

of  of dy
—+——=0: 3
ox dy dx )
(2) hwwuwnnipnjtbhg gunbnid Gap
dp  d¢dy
—+——==0: 4
ox dy dx @

(4) hwjwuwnpnipjwb wonwdiltpp pwqiwwwwnybiny
wrwjdiu wanpn A gnpéwygny L npwbp gnidwpbiny (3)
hwdwuwnpnipjw hwiwwwuwnwufuwb wlnwabtnha,
Yuuinwbwbp

a_f+a_fﬂ +/1 a_¢+%ﬂ :0,
ox dy dx ox dy dx
Ywd
(a—f+/1%j+ ai+ﬂa—¢ ﬂ:(); (5)
ox ox dy dy )dx

A-0 phunnGbp wybwtu, np (5)-h Gpypnpn thwywagsdh
ato gunbynn wpwnwhwjnnigntp nwrbw gnn’
o 09
—+A—=0:
dy 9y
Pw)g wyn nGwpentd (5)-hg hGnlnwd
a—f+/1a—¢=01
ox ox
Wuwhuny, unwgynid t, np tpunptdnudh YGuinbpned
pwdwpwpynid G0 hnlyw| Gptp hwdwuwpnudbtpp’
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o ,0¢
—+1—=0
ox ox

o 09
—+A—=0}: 6
8y+ dy ©)

o(x,y)=0

Wn hwdwuwpniibtphg npnpynud G0 x,y,4  pybpp:
Jdbpohtu wuwwpnud £ odwlnwy nbp L hGnwquynid dbq
wewnp sk:

Lywuwntlbp, np (6) hwjwuwnpnibbph dwfu dwubpp
hGunlw] $nibyghwih dwubwyh wéwbgjw btplb GO punn x-
h, y-hl A-p

Flx,y,2)= fx,y)+ Aplx, y): (7)

Wuwhuny,  npwbugh  qulbbp  (2)  Yuuwh
hwjwuwpdwbp pwjwpwnpnn x-h L y-h wb wpdtpbtpp,
npnOg nbwpntd u = £(x,y) $nibyghwl Yupnn £ nibblwy
tEpunnptdnid,  hwpywynp £ Ywqdbp (7)) odwlnwy
dnibyghwl, Gpw dwubwyh wéwbgywibtpp pun x-h, y-h L
A-h hwdwuwptglsy gpnh L unwgwéd  (6)
hwywuwpnuilbphg gl x-p L y-p (hOoswGu Owl A
odwlnwy pwaiwwwuwnyhsp):

Nhgnip  wwhwoyntd £ qunlbp « = f(x,y,z) bpbp
thnthnfuwywbOtph  $nibyghwih  Epunptdnudbenbt wyb
wwjiwlny, np x, y L z thnihnfuwywbbtpp Yywwdws Gl
hGunlw) Gpynt hwywuwpnidbtpny®

¢,(x,y,2)=0,9°(x,y,2)=0: (8)

Npwbugh gqunltbp x, y L z dinhnfuwybbEph wyb
wpdtpltpp, npnbg nGwpnd «  $nibyghwl Ywpnn L
nLOoGOwy Epunnpbanudbtp, hwpywdnp  Juqut)®

Flx,y,2.4,4,)= f(x,y.2)+ 49,(x,y,2)+ 4,9, (%, y.2)
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dnbyghwl, hwdwuwnptglby qpnh OGpw dwulbwyh
woéwOgywbtpl pun x, y L z thnhnfuwywbObpp’

S 120,592

ox ' ox ox
o 99 9
+ A=+, —2=0¢: 9

o 99 0
A=+ 1,2
0z " 0z " 0z

(8) L (9) hhGg hwywuwpniibbphg qunlb x, y L z
thnthnfuwybbBph npnbGh wnpdbpbtpp (hOswbu Gwb 4, L
A, odwlnwy pwgdwwwuwnyhsbepp):

Opphlwy. Spywéd S |phd dwytpunyph dwytptuny
glwlwdl wonph swhhubpt pbunptp wjbwbu, np Gw nOGOw
witlwdts tnwnnnnienilp:

Lnténud. Quibh hhdph 2wrwyhnp Gowlwytlbp x-ny,

huy pwndpnipinilp” y-ny: Wn nbwpnid quih swywip
Uthth™ vV ==y, huy quuih |phy dwytptnyeh dwytpbup®
S =27’ +27mxy

Gnlwpwn,  fuGnhpp  hwigkg  fxy)=m"y
dnbyghwih wwydwbwywa Epunptanidph gunbbinda, Gpp x -
pL y-pYuwwyws 6O S =22 + 22y hwdwuwnniiny:

Lwqubklp F(x,y,l)zﬂ:xzy+/l(2ﬂx2 +271:xy—S)
$nibyghwb L guinlbtlGp Gpw dwulbwyh woéwbgjwbtnp

F! =2my+ Admc+ 27y),
F) =7’ +27mix:
LUwqublp hGnlyw] hwwuwnpnidbbph hwdwywpgp®
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27xy + Aldme +2729) =0
o +27Ax =0
20 +2my =S

LniéGind wyn hwiwywpgp, gnlnud Glp x:’/6i’
T

y=2 = (W/i,zw/i] Yswp Gwpuhdnush Yo E:
o6r (/4 67
v :,,( /i) 2[5 8 [s
6r 6x 3 \o6rx

LBwlh nn wnwlinhly fuGnpnGnnid hnhnfuwlbwGabnh L
uwuwbnh phyn JGo G0, wdy dbGennp nah  wdbh pun
wnbuwlwl pwl gnpoGwlwl Ghnweniygintl.: StunGuwghuwlwl
hGunwqu nwupbpwgbbnnid Yowlnpwgd&lo wybih Yhnwewlwli
dapnnlbnh htun:
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